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1.1

Qv qv
qp Qv
D.HE,
Q=-Cg- Mg T2 Tl
=—Cg mg- T=-C,- T 1.1
CS
Cs Cs:Cs' Mg
T q

C c=C/m Sl kg 1. k-1

]



J- gl k1 C 3q dT  C=3 g/dT
SI J- k1
1.1
]
1.1
Tl
T2
q H0 1.1
q H,0 =c H,0 m H,0 - T=C H0 - T
Oy
Cy
Gy T
q q HO0 ab
C H,0 T C T >C T 1.2
1.4
N,H,
1.1 0.500gN,H, 1  2t000048_0007_0 1210gH,0
293.18K 294.82K
C, 848 k1
N2HA(1) 02(g) N2(g) 2H20(1)
4.183- g-1- K-1 1.2) 0.500gN2H4
q C(H0) T Cb T C(H20) Cb T
(4.183- g-1- K-1x 1210g 848J- K-1)(294.82K 293.18K)
9690 9.69kJ 2t000048_0007_1
1.2 q
-9.69kJ 0.500 gN2H4 -9.69kJ/0.500g(N2H4)
1molIN2H4 N2H4 M(N2H4)=32.0g- mol~L



29693 3 0-9  620kJ- mol
0500g ~mol °

( ) ( ) Q@ 9

NoH, (1) 0,(9)=N,(9) 2H,0(1)
g,= 620kJ- mol-1
[NH, (1) 0,(9) -
N,(@) 2H,0(1)] 620kJ

1.2
1.2.1
Qv Op
1
C(e  50,(9) = CO(g)
1840 (' . .T ecc G.H.Hess)
(
)
101.325kPa  298.15K ImolC( )
C0,(9) 1.2 @“» @ G
S n mol

H 2H+ H2 2H2+02
[N2H4 1 +02 g -N2 g +2H20 1 ] 123
ap qv (4]



IAZ5C CRE 0, (2)

200, )

) i3)

1
Cogl+ E DE (g)

1 .
Bl 2 crmEBit =0 (g)=C0 (g) R Frnf+ 5

) (D 1molC( )
C0,(9) C( ) 2(9)=C0,(9)
0p.,1(298.15K)=-393.5kJ. mol-1( )
( ) ImolC( ) Co(9)
) F0.@=c0@, (@
0y, 2(298.15K)( )
colg CO,(9).CO[) + 50,(9) = CO, (0,
@
0p,5(298.15K)=-283.0kJ- mol-1( )

0p,1(298.15K) g, ,(298.15K) @, 5(298.151K)
0p,2(298.15K) g, 1(298.15K) , 5(298.15K)

{( 393.5) ( 283.0) kJ- mol-!
= 110.5kJ- mol-?

CO(g) qp,2
C02(9) Op,1 174

Qv N

CO9) 500 =CO, (9

CH,(@)  20,(9)=C0(g)  2H,0(1)
v



( v ) ay
eh
(
)
1.2.2
U
(
)
co,
p( p=101.325kPa) V( V=24.5dm* L) T(
T=298.15K) n(n )
p V T n
pV=nRT (1.3)
P
P NRT/V
R (8.314510+ 0.000070)J- mol~1. k71
p V T n

C)




CaCo,
B
FESE

B
B

) (
U:_Ul UZ:UZ_Ul

CaCl, (s) Cal (1400, (g)

U=qg w(1.4)
w () )

( ) W
CaC0,(s) -~ Ca0(s) C0,(g)

( w’ ) W'

€))
V=0

(
&)

(A) ’

( )
w' =0
q=qv 1.4
U=U,-U,=q,(1.5)
U) Qv
(

w I

9y (1.4)

W' =p \V=

U=q, w'
H U (W= U p V
U H p V

U H-P V

U=q, U= H

Gy HeHy-H,(1.6)
pP(V2-Vy)

)

V=0

H (

(1.6)



U H rUm er
kJ- mol~! r m ( )(molar)
U H
@' = p Vp= POy 27V, 1)
Vin m- mol~1 P kPa w'
kJ- mol~!
2.
</PGN0014.TXT/PGN>
aA(9)+bB(9)=9G(g) dD(9)
PV=nRT
pVy=p(V/n)=RT
C V)
v
p Vy= V- RT
v=(g d)-(a b)
W =-p V,= V- RT a.n
U=qp w =qp—P Vin
U= H V- RT (1.8)
( ) v
1.2 100 101.325kPa molH,0(1) molH,0(g)
U H  40.63kJ- mol~! U
H,0(1) Hy0(9)
1.8)
U H v: RT
u 40.63 (1 0)x i'g’;gx (273 100) kJ- mol™
= 40.63 3.10 kJ- mol*
= 37.53kJ- mol™*
5kJ- mol™l 1.2 wo= U-
H=-3.10kJ- mol~1 U H H H=
( ) (1.8) U (1.5) qv
Oy G P Vo Gy V- RT (1.9)</PGN0015. TXT/PGN>
H
Oy
dp H

1.2.3



(V) Q)
¢ H
PO (
p®) ( ) (
) c®
6B3102.8 92 po 100kPa
B B po B B
B po me ( )
B
101.325kPa
po 101.325kPa( c®  1mol- dnd)
( 3)
298.15K
+H9 (298.15K) H® (298.15K) °©
& (M) oo
H,0

H, (@) +30,(0) = H,00;

He (298.15K)=285.8kJ- mol-!
H,0(1) H® (H,0,1,298.15K) -285.8kJ- mol-!

( 4)
298.15K H* 298.15K
HI H ag  298.15K)
HO(H ag 298.15K)
{H® (H ag 298.15K) O

aq aqua( ) H*(a)
298.15K
2.
Hn H

298.15K
H® (298.15K)
He (298.15K)=S . H® (298.15K)}

T P =PB



S (H® (298.15K) (1.10)

1.3 ( )
Fz I

1 A (298, 15K) R
cn(gj+§nztg3 —— | CO, (g)

—Z{A M 295, 15K) Fe =LA M08, 15K}
£ E ERER

B
CERENME)

1
B acoig) +§ 0, (g) =CO0; (g) f7 FrAmitEts TR+ e

aA  bB=gG+dD 298.15K
(298.15K)

He (298.15K) g (H® (G 298.15K) d H® (D.298.15K)
{a H®(A 298.15K) b (H® (B 298.15K)

1) He > P > P

©))

€)) g d a b
H® ( )

4 _ z .
FAIS  0,(a) = FALO, ()

H® (298.15K) 1117.1kJ- mo -1

208. 15K C )
CAI9 0,@® ZALOL9Y
1117 .1kJ
3 1
A 20,0 ® SA1LO,(:
HO (298.15K)  837.9kJ- mol-t
298.15K
é 3 1 u
g“l(S) 20:09® EAIZOS(S)EI
837.9kJ
aA bB=gG+dD -aA-bB+gG dD=0 -VaA-VbB+VGG+/DD=0
1.11 tHO 298.16K =0
298.15K
1117.1kJ g &€ =dnB/VB

& =1mol Imol

HO

(1.11)



A9 50.(0)® ALOLS);

H® (298.15K)  1675.7kJ- mol-

298.15K
é 3 b
@2A|(S) 502(9) ® A'zos(S)H
1675.7kJ
A He (298.15K)
C))
A (H® (298.15K)
®) (
) (6) 298.15K
A He

S0,(9) +50.(9) = SO0
A H (298.15K) -98.9kJ- mol-! A H® (873K) -96.9kJ- mol-L
A H (298- 15K) T A
(1)
1.3 ()
A H8 (298.15K)

3)
NoH, (1)+0,(9)=N,(9) +2H,0(1)
(H® (298.15K)/(kJ- mol-}) 50.63 O O  -285.83
(1.10)

H® (29815K) ={ | H°® (N,,0,29815K)+2 H° (H,0,129815K)}
-{ (H?(N,H,129815K)+  H°(0,,9,29815K)}
={0+2" (-28583) - 50.63- O}kJ- mol*
= 622.29kJ- mol *

1.1 q, -620kJ-mol-!

( ) H,0

Oy ( )

( 2000 )
A He (298.15K)
1.4 H® (298.15K)

2A1(s) Fe,05(s) AL0;(s) 2Fe(s)
#H® (298.15K)/(kJ- mol-1) O 824.2 1675.7 0

(1.11)
He (298.15K)=  (H® (AL,0;,s 298.15K) 2 (H° (Fe,s,298.15K)



2 H° (Al,s,298.15K)  H® (Fe,0,,s,298.15K)

( 1675.7) 0 0 ( 824.2) kJ.mol-2
851.5kJ- mol-2

8AI(s) 3Fe;0,(s)=4A1,0;(s) 9Fe(s)
H® (298.15K)= 3347.6kJ- mol-!

A HP (298.15K)

1molAl(s) A HP (298.15K)
1 1
> §( ) -425.8kJ- mol™* -418.45kJ- mol™
6.1 C 0 ) I
6.1 1mo10,(9)]
1.5
Zn(s)+Cu(aq)=zn?*+(agq)+Cu(s) A H® (298.15K)
( 3 4
n(s) Cu, (ag)=Zn, (aq) Cu(s)
H® (298.15K)/(kJ- mol-) 0  64.77 153.89 0
(1.11)
He (298.15K) HO(Zn, ,aq,298.15K)  H® (Cu,s,298.15K)

#H® (Zn,s,298.15K) fH® (Cu? ,aq,298.15K)

( 15.89) 0 0 64.77 kJ- mol-t
218.66kJ- mol-

( )
1.3
[1]
1.3.1
60
1949
0.320 10 1986 8.90

2 1990 10.9



1985 75.4
20.9 3.7

( ) 298.15K c(
)+0,(9)=C0,(g) A H® (298.15K)=-393.5kJ- mol-1 ~ 1.000g ( )

A H (298.15K)=-32.8KkJ- ¢!

C ) H,0 )
1.1
1.1
w/
c H 0 kJ- kgt
50 5 45 20900
57 5 38 24300
62 5 33 21300
70 78 5 6 13 24 24300 30500
80 90 5 6 3 1 30500 36800
90 92 4 3 4 30500 35600
[2] 15 ( Kcal .kg-1 kJ - kg-1)
1.1
30000kJ- kgt 30kJ- g
« )
SO, SO, H,S
W
w(S) 1.5 w(S)=1.5 2.5 w(S)=2.5
4.0 w(s) 4 0.5
3.0 0.2 5
w(P)=0.001 0.1 1 0.05
( )
c 208.15K =-393.5kJmol-1 A ch®

298.15K =-32.8kJ.g-1 A ch® A HO



)

C(s)+0,(9)=C0,(g) A H® (298.15K)=-393.5kJ- mol-!
1500

C(s)+H,0(9)=C0(9)+H,(9)
A HO (298.15K)=131.3kJ- mol-!

298.15K )
CO H,
1
CO(9g) 5C5®)=COA®

He (298.15K)= 283.0kJ- mol-.

H,@ 50,0 = H,00)

He (298.15K)= 285.8kJ- mol-L
co -

(CefsOH)
40 H, 15 CO 15 CH, 30 CO,

CO H,
C0(g)+3H,(g)=CH,(g)+H,0(1) A H® (298.15K)=-250.2kJ- mol-1

101.325kPa 473K( 200 )
CO H,

6CO+13H,=CH,,+6H,0

8CO+17H,=CgH, 5+8H,0
8CO+4H,=C,Hg+4C0,

1.3.2

20



1950 27
1986 1.30 5 1990 1.38

(CgHie)
CgHis(1) 2—2502(9):8(302(9) 9H,0(1)

He (298.15K)= 5440kJ- mol-!

1.000gCH A HB (298.15K)=-47.7kJ- g
(CHyY)
(CoHe) (CsHg)
CH,(9)+20,(9)=C0,(g)+2H,0(l)

A H® (298.15K)=-890kJ- mol-!

1.000gCH, A H® (298.15K)=-55.6kJ- gL
221
100m

1986 137.6x 108m3 17

1.3.3
( )

[A He (298.15K)=-286kJ- mol-*
A HP (298.15K)=-143kJ- g'1] (H,0)



15MPa 40dm3
0.5kg
LaNig
LaNiHg
: (200 ~ 300)kPs
Lallig +3H; g Lallis }s
H, LaNig
lkgLaNig 250kPa 159
3.
1980
1985 Ti Fe V
4
40 0
90
1.
300Mw( ) 1800MW
(on)
U-235
U-235
“ooUtn( )® + +
35 (3020 6460)
200
(A.Einstein)
A E=Am- c? (1.12)
AE
AE=XE -2 E
Am
A m=zm -Zm

C 2.9979% 108%m- s



23%U+,n®; ST+ L aCe+2n+4 J€
"ooU 3eSr TigCe on( ) Je ()
234.9934 89.8864 143.8816 1.00867 0.00055g- mol-1

A m= (89.8864+143.8816+2x 1.00867+4x 0.00055)
~(234.9934+1.00867) g- mol-l
=-0.2145g- mol-!

A E=A m- c?=(-0.2145g- mol-1)x (2.9979x 108m. s°1)2
=-1.928x 10%g- m2. s72. mol-?
=-1.928x 10%%kg- m2- s2. mol-1
=-1.928x 10%3J- mol-1=-1.928x 101%J- mol-!

1.000gU-235 U-235 235g- mol-!
10 -1 10009 7
E= 1.928x 10°kJ mol™x ——————— = 8.20x 10°kJ
235g- mal
A E=-8.20x 107kJ- g?
19 U-235 8x 107kJ
19 30kJ 1gU-235
2.7x 10%g
Sr-90( 29

2.
GH)Y  (GH)
H+’H®; He+yn
(1.12)
A E=Am- c?
2H 3H “He 1n 2.01355 3.01550 4.00150

1.00867g- mol-!
Anm= (4.00150+1.00867)-(2.01355+3.01550) g- mol-!
=-0.01888g- mol-1
A E=A m- ¢c?=(-0.01888g- mol-1)x (2.9979x 108m- s°1)2
=-1.697x 10%g- m2- s72. mol-?
=-1.697x 10%°kJ- mol-!
1.000g H-2  H-3 2.014
3.016g- mol-!
1000g

(2014 +3016)g- mol**

E= 1.697x 10°kJ mol *1x

=-3.37x 108kJ
A E=-3.37x 108kJ- ¢!



/(kI- g H
30 1
48 1.6
56 1.9
143 4.8
U-235 8.2x 10° 2.7x 10°
3.4x 108 1.1x 10’
1g 4
0.015 1.3x 1027g
2x 10-13
1
( )
)
( 1 )
TH®; He+22n
‘e
2x 1021kJ
© @) ()
@V @ W (AH) 298.15K

[A HY(298.15K)] [A HC(298.15K) ]



1.1
g= CHO0 T C, T = 2C T (1.2)
()
(a9) ()
1.2
1.2.1
1.2.2
A U=g+w (1.4
1.
D A U=q, (1.5)
@ A H=g, (1.6)
*2.
W= p V= v- RT (1.7)
U= H p V,= H- v- RT (1.8)
R=8.314J- mol-!. K1
1.2.3
298.15K A H7 (298.15K)

A (H? (298.15K)

A H®(298.15K) ==
> A H%(298.15K)
A rHY (298.15K) =

gl (H (G,

A (HY(298.15K)

(1.10)

298.15K) dA ,H®(D,298.15K)

aA (H%(A298.15K) bA HY(B,298.15K) (1.11)
A HY
A HY (298.15K) T A HI(T))
1.3
( )
C(s)+0,(9)=C0,(9)
( )
CaHys (D) 2—2502(9)=8COZ(9) 9H,0(1)
( )

CH,(9)+20,(9)=C0,(g)+2H,0(1)

H2(9)+1/20,(9)=H,0(1)



48 1.6
56 1.9
143 4.8

@
€
®)
4)
®)
(6)
* 7)

4. g w H

g g U H A HL A HY(298.15K)
6.9 H U p V U H
7. A H
8. R
o ) .

10.

11.
12. A (HY (298.15K)

A HY (298.15K)
13.

14.

¢y



UF(1)=UF(g) A ,H%=30.1kJ- mol-t

1molUFs (1) 30.1kJ « )
@
C )
1
H.(@ 50, (@=H0 (1)
2H,(9) O,(@=2H,0 (1)
€)) AH C )
2. ( )
€Y

(2)CH, (1)+20,(9)=C0,(9)+2H,0(9)
(b)CH,(9)+20,(9)=C0,(9)+2H,0(9)
(€)CH,(9)+20,(9)=C0,(9)+2H,0(1)

(AICH. (@) + 70, (9) = CO(g) + 2H,0()

@) _
(@AH (DpAV  (c)q, (Da,
3.
( 1.000g)
@
@)
©))
*4 Cy
0.500g (C¢HsCOOH) 1209g ( )
296.35K 298.59K
-3226kJ- mol-1
5. CeH1206
CoH1206 (S)+60,(9)=6C0,(g)+6H,0(1)  g,=-2820kJ- mol-1
30
(3-89)
6.

Fe,05(s)+3C0(g)=2Fe(s)+3C0,(g) @,=-27.6kJ- mol-*
3Fe,03(s)+C0(g)=2Fe;0,(s)+C0,(9) Q,=-58.6kJ- mol-1
Fe;0,(s)+C0(g)=3Fe0(s)+C0,(g) q,=38.1kJ- mol-!

g
Fe0(s)+C0(g)=Fe(s)+C0,(9)
[ Fe,0;

Fe0, O & G @&



6qp,4:3qp,l qp,2 2Qp,S

*7. (C,H;OH) 351K 101.325kPa
39.2kJ- mol-t 1moIC,HOH(I) w( ) AU
8. G G

(LNH,HS(S) %T94® NHy(g)  H,S(Q)
(DH,(9) Cl,(9) %“%%® 2HCI(g)
(3)C0,(s) ¥ $4® C0,(g)

(4)AgNO,(ag) NaCl(ag) %@ AgCI(s)

NaNO;(aq)

*9. 8 AU A
H

(1)2.00moINH,HS(S)

2 1.00molHCI(g)

(3)5.00molCO,(s)( )

4) 2.00molAgCI(s)

10. A HT (298.15K)

(1)4NH3(9)+30,(9)=2N,(9) +6H,0(1)

(2)CH,(9)+H,(9)=C,H,(9)

(3NH;(9)+

(4)Fe(s)+CuSO,(aq)

11. (1) A HY(298.15K) *(2) A ,U? (298.15K)
*(3)298.15K w'

CH,(9)+4Cl,(g)=CCl,(1)+4HCI(Q)
12, 298.15K 1.0000g (CgHig 1)
-47.79kJ( 1.0000GcgH; g )
(CgHig D (Dgv *(2) A H} (298.15K)
13. CaCO; Ca0 CO, A (H¥(298.15K) 1000kg
( CaCO; )
( ) 14.
298.15K (C,Hy) (C,Hy)

(€)) kJ- mol-! 2 kJ- g1



@

(D.G%y D,G

D,G,

D) (K9 ) DGy,

®

4)
2.1

2.1.1

C(s)+0,(9)=C0,(9)
Zn(s)+2HC1(agq)=ZnCl,(aq)+H,(9)
Zn(s)+2H*(aq)=2n* (aq)+H,(9)

N,(9)+0,(9)=2N0(9)
2NO(9)+0,(g)=2N0,(9)



(AH )

C(s) 0,(g)=C0,(g)  H® (298.15K)= 393.5kJ- mol-t

Zn(s) 2H (ag)=Zn* (aq) H,(9)
He (298.15K)= 153.9kJ- mol-L

H,0(s)=H,0(1) AH O
101.325kPa 273.15K(C 0 ) 283K
( CaC0y) (
Ca0) Co,
CaC05(s)=Ca0(s)+C0,(g) AH O
101.325kPa  1183K( 910 ) CaCO,
Ca0  CO,

CaCOq4 101.325kPa
1183K

2.1



Se

(298.15K)

298.15K

@

)

®

dD

) (
(
2.1
( )
3 298.15K
S0 (298.15K) Sl J- mol-
H+
298.15K (
) 4

S0 (H,0,9,298.15K)=188.72J- mol-L. K-1
S8 (H,0,1,298.15K)=69.91J- mol-t- K-

S8 (Fe s 500K) 41.2J- mol-1l. K-1
S8 (Fe s 298.15K)=27.3J- mol-1. K-1

) ( )

)
S8 (C,H; g 298.15K)=229J- mol-i. K-!

SO (CH, g 298.15K)=186J- mol-1. K-!
D, S,
S0 Ho
Se

)
)
)
Sh
Se
K—l
298.15K
(
aA bB ¢G



S0 (298.15K)
T S (298.15K) 5 {S° (298.15K)} S (298.15K)

gs® (G 298.15K) dSé (D 298.15K) *
as® (A 298.15K) bS® (B 298.15K)  (2.1)

so HO
S8 (298.15K) T
S Q)
2.1 (CaCo0y) H® (298.15K) Se
(298.15K)
3 £H® (298.15K)
S9 (298.15K)
CaCOz(s) Ca0(s) + CO,(9)
#H® (298.15K)/(kJ- mol-1) -1206.92 635.09 393.50
S8 (298.15K)/(J- mol-t- K1) 92.9 39.75 213.64

(1.11)
He (298.15K)=  (H® (Ca0,s,298.15K)+ (H® (CO,,g,298.15K)

- H9 (CaCo,,s,298.15K)
= (-635.09)+(~393.50)-(-1206.92) kJ- mol-!
178.33kJ- mol-?

2.1)
S8 (298.15K)= S° (Ca0 s 298.15K) S°(CO, g 298.15K)

- S%(CaCO; s 298.15K)

= (39.75 213.64)-92.9 J- mol-l. K-t
=160.5J- mol-t. K-
He (298.15K)
SG
(298.15K)

101.325kPa  273.15K

( 273.15K)

21 tS 298.15K =0 111



«C o ) S
_ 49
DS = (2.2)

H,0(S 101.325kPa 273.15K)
=H,0(1 101.325kPa 273.15K)

101.325kPa
273.15K Ogys (H,0) (Fus fusion )
101.325kPa 273.15K ar Ogus (H,0)
6007J- mol-!
Urs(H,0)  600) mol* PR
q: us = = - .
DS T 27315 21993 mol K
(2.2) T S=q, T S
q H
H S
3.
o (o TR R o
mI#, E{EE
101.325kPa  273.15K 273.15K
298K 273.15K 248K
€y H
S
273.15K HO 6007J- mol-!
T s° 273.15% 21.99J- mol-!
@) H® so
HO (273.15K) S® (273.15K) 298K
T 273.15K 298K T S8 HO
T S

2.2 q r qr



(3) 248K T 273.15K 248K T S8
He
T S8 HO Ts A
H T S N
H=T S =
H T S -
H T S
H-T S 0
H, S, H SH, S,
S
H:Hz_Hl S SZ_Sl
(Hy-H))-T(S,-S) O
(Hy-TS))-(H,-TS;)) O
H-TS G
G=H-TS
G H T S
G ( TS)
G= H-T S
G=H,-T S,(2.3)
GZ_G].: G 0
G
G
( ) ( 41 )
2.1.2
1 G
G 0
G=0
G 0 (2.4)
G
G  H

( S H S



2.1

Hy(@+Clh@=2Hcl@) | - [ + ]
1

CO(@)=C(s) 2 0,(g)

CaC04(s)=Ca0(s)+C0,(9) + ¥

No(@)  3Hy(9)  2NHy(9) | - -

H
H
S
S
S
G
H S
2. GO
1 6 G He Ge
G G
( ) (
) G GO
aA(g)+bB(g)=gG(g)+dD(g)
G = DG® + RTn{P@)/P° 3 {p(D) /p° }°
{p(A)/ p° }*{p(B)/p°}"
R p(A) p(B) p(G) p®d) A
G D p/p®
(2.5)
p/p®
{p(G)/p® }%p(D)/p°®}“
p(A)/ p° }*{p(B)/p°}"
Q
(2.5)
G GP+RTINO
p

p° M) I( sl 1 Yy Q=1



InQg=0  (2.5) G= G°

p
( ) c
p®) (c/c?)
aA(aq) bB(ag)=gG(aq) dD(aq)
G = DG® +RTInPC) /P }¥{p(D) /p" }°
{p(A)/p°® }*{p(B)/ p° }"
=DG® +RTIn (2.6)
c® imol- dm=3 c/c® =c
sl 1
( )
Ing=0 G= G°
2 ¢
(2.5) (2.6)
G
(B.F.Dodge) G®
G 0
0 G® 40kJ- mol-1
G® 40kJ- mol-1
A B ( ) G D
)
p(A)?- |c;(B)b >> |o(G)9-e |D§D)d
{p@G)/p" }°- {p(D)/p”}° _ w1
{p(A)/p° }* {p(B)/p°®}° °
InQ<<Inl1=0
InQ
6= G ()
G 0 G G 0
GO (
0 40kJ- mol-1) G
2.1.3
1.298.15K
(1) 68 (298.15K)
( 3)

(p/

Q=1



( 4) H*

G
£G°
rG?n
GO 298.15K
aA+bB=gG dD
GO (298.15K)
GO (298.15K)
= & {D,; GY(29815K )} - & {D;G"(29815K)}
={gD;G"(G,298.15K) + dD; G (D,298.15K)}
={aD,;G(A,29815K) + bD, GY(B,29815K)}
2.7
@) H (298.15K)  S° (298.15K) He
(298.15K)  S® (298.15K) (2.3)
Gi= HI-T s
GO (298.15K)= HP (298.15K)-298.15K- S (298.15K)
(2.8)
2.
GO et! GO
( ) 2.7
(2.8)
H H S S0
T HY S He (298.15K) S
® (298.15K) Hi= HO (298.15K)  Si= S8 (298.15K)
(2.8)
Gi= HP (298.15K)-T S (298.15K)(2.9)
¢ Gy K®
K® G4 2.2
3.

CH,(@) 20,(9) CO(9) 2H,0(I)
CH, 0, CO,
101.325kPa( 101.325kPa

2.2 )
p(CH,) 101.325kPa

p(0,) 101.325kPa



p(CO,) 101.325kPa

G
0 G
I (2.5)  (2.6)
G= G® RTINQ
2.2 (CaC0,) GO (298.15K) GO
(1273K)

CaC05(s)=Ca0(s) C0,(9)
(1) G® (298.15K)
() £6% (298.15K) 2.7)
G® (298.15K)= £6® (Ca0,s,298.15K) £6® (C0,,9,298.15K)
- ¢6% (CaCO; s 298.15K)

= (-604.04) (-394.36)-(-1128.04) kJ- mol-18.15K)
=130.44kJ- mol-?

() HP (298.15K) S (298.15K) 2.1
He (298.15K)  S° (298.15K) (2.8)
GO (298.15K)= HO (298.15K)-298.15K-  S® (298.15K)
1605 .
(178.33-298.15x - k3 mol

=130.48 130.5kJ.mol-1
(2) G° (1273K)
H® (298.15K) S (298.15K) (2.9)
GO (1273K)=  H® (29.15K)-1273K-  SP (298.15K)
1605

= (178.33-1273 kJ- |1
( X To00)<> Mo
=-26.0kJ- mol-?
(€))
Ge
298.15K G® =130.4kJ- mol-! 40kJ- mol-!
1273K G® = -26.0kJ- mol-l 0
co, 0.03 co, 30Pa
G
CaC05(s)=Cao(s) C0,(9)
Q=p(C0,)/p®
(2.5)

G=G® +RTIn p(CO,)/p®
298.15K
G=130.4kJ- mol-1 8.314x 10-3kJ- mol-1. K-1x 298.15K
x In 30Pa/(101.325x 103Pa)
=(130.4-20)kJ- mol-1=110kJ- mol-!



G 0
1273K
G= -26.0kJ- mol-t 8.314x 10-3%kJ- mol-l. K-1
x 1273Kx In  30Pa/(101.325x 10%Pa)
= (-26.0) (-86.0) kJ- mol-'=-112.0kJ- mol-!

G O
GO
4.
GO G
2.3 101.325kPa
Cu0
Cu,0
Cu0 Cu,0
1
2CuO(s) = Cu,0O(s) Eoz(g)
D) H® (298.15K) S9 (298.15K)
H® (298.15K)= #H® (Cu,0,s,298.15K)
1

= H® (0,,0,298.15K)} -2 (H® (Cu0O,s,298.15K

2
= (-168.6 0)-2x (-157.3) kJ- mol-t
=146.0kJ- mol-!
1
59 (298.15K)=  S° (Cu0,5,299.15K) 5 S° (0,,,298.15K)
~258 (Cu0,s,298.15K)
1
= (93.14+3x 205.03)-2x 42.63 J- molL. Kt
=110.40J- mol-1. K1
0.1104kJ- mol-1. K1
) G?
He (298.15K) S (298.15K) p(0)=p( )= p®
G= GY

GO = He (298.15K)-T S8 (298.15K)
146.0kJ- mol-L-Tx 0.1104kJ- mol-1l. K-t

G 0
G= (%= 146.0kJ- mol-1-Tx 0.1104kJ- mol-l- K1 0
146.0
T —01104K—1322K
( ) 1322K Cu0
Cu,0
( ) H® 0 ¢ 0
G= G®= H®(298.15K)-T S° (298.15K)

G



G® =0 T T( )

T( )= H®(298.15K)/ S° (298.15K)

® G Ke (
2.2 ) ( 4.1 )
( 6.1 )
2.2
2.2.1
1.
co

H,0(9) CO, H,
CO(g) H,0(g)==C0,(9)+H,(9)
CO H,0(g) CO, H,
( 673K

aA(g9) bB(g)==9G(g) dD(9)

T1n PG/ P° }%{p(D) /p° }°
0 ya 01b
{p(A)/p” }{p(B)/p” }
6=0
p peP
{p*(G)/p°® }°*{p*(D)/p°® }"
{p=(A)/p® }*{p=(B)/p°}°
r]{loeq(G)/loe}‘9’{|oeq(D)/|oe}d
{p(A)/p® }*{p=(B)/p°}°
T G GO /RT
i IPG) /P }o{p (D) /p° 37
{p*(A)/p° }*{p=(B)/p°}°

DG =DG? +

0=DG® +RTIn

=-DGY/RT

{p*(G) 1 p® }{p*(D) /P }° _
{p*(A)/p® }2{p™(B)/ p° }°




KG
{p*(G) /p° }4p*(D)/p° 3 _ ¢
{p*(A)/ p° }3{p™(B)/ p° }°

(2.10)

Ink® = G /RT (2.11)
aA(aq) bB(ag)==gG(aq)+dD(aq)

{c®(G)/c® }9{c™(D)/c®}¢

_ 0
PC =BG T RTIN (a) 1 yoge™ (B) 10 }°

6=0
{c9G) /1 }o{c¥(D) 1} _ g (212)
{c™(A)/c® }3{c¥(B)/c® }°
InK® G® /RT
Ke
Ge
( 3.1 )
1 ¢
(2 ( )
( 2.2 )
CaC04(s) Ca0(s)+C0,(9)
K®  pea(C0,)/p°
(©) I

N,(9) 3H,(9) 2NH;(9)
Ko = {p*I(NH4)/p°®}?
{p*(N,)/ p® Hp*(H,) /1 p° }°

ZN2(9) + 2H2(9) = NHo(9

_ {p™ (NH;) /p° }
{P¥(N2)/p® Y{p™(H,) /p® 1"

IUPAC K S



2NH; (@)  N2(9)  3H(9)

g = PP (N2)/p° Hp™(H,) 1p° }°
{P¥(NH;)/p" }*

K8 :(K' 9)2
1
6 —_—
K T K
4 G
2.
KG
( )
- x 100
@ ( ) ¢G°
) (A B )
(p(A) p(B) )
p=p(A) p(B) (2.13)
pC  )=p(0)+p(N;) p(CO,)
( ) (
(
) (A) _n(A) (A)
P(A) _n _NhA)
o T n p(A) = P
ER-IE =t e

(

)



P(A) _nA). p

pP  n pd
p(B) _n(B). p
T (2.15)
ET3E
2.4 CO(9)+H0(g) F=s CO(9) H3(9)
673K Co0(g) H,0(@)(
2.00mol) () K® (b)
Co (©) H,0(9) 4.00mol CO
(@) K®
H (298.15K)  S° (298.15K) (2.5)
68 (673K)
He (298.15K)={ (H® (CO,,q,298.15K)+ (H® (H,,q,298.15K)}

-{ (H® (CO,g,298.15K)+ (H® (H,0,9,298.15K)}
={(-393.50)+0-(-110.52)-(-241.82) }kJ- mol-L

=-41.16kJ- mol-1

S (298.15K)={S® (C0,,g,298.15K)+S® (H,,q,298.15K)}
-{S® (C0,g,298.15K)+S°® (H,0,9,298.15K)}
={213.64+130.574-197.56-188.72}J- mol-t. K-
=-42.066J- mol-1. K-1=-0.042066kJ- mol-1. K-1

GO (673K)= HP (298.15K)-673Kx SO (298.15K)
(-41.16)-673x (-0.042066)}kJ- mol-L

=-12.85kJ- mol-!

(2.11) Ke
. DG
InK% =
: RT
- - ¢ . -1
_ - (-1285 " 1000J- mol — 2997

83143 molt K 673K
Ké = 9.94

(b)CO

CO0(g)+H,0(g)=C0,(g)+H,(9)

/mol 2.00 2.00 0 0
+X +X

/mol -X -X

/ol TR 4% % 4% 48

/' mal 400

200- x 200- x X X
400 400 400 400

p

(2.14)



K X Co
K :{IOeq(COz)/De Hp*(H,) /p°}
{p*?(CO)/p°® }{p*(H,0)/p° }
{(x/400) " (p/p")}{(x/400)" (p/p")}

= 994~ 100

10.0= - -
{(200- x)/4.00" (p/p?)}{(200- x)/4.00" (p/p9)}
=x?/(2.00- x)?
x/(2.00-x)= 3.16 x= 1.52mol
Co = 1.52mol/2.00mol=0.76=76
©) Co H,0(9)
4.00mol
KO = {(y/600)" (p/p?)}{(y/600)" (p/p*)} -
{(2.00- y)/ 600" (p/p?)}{(200- y)/6.00" (p/p*)}
y= 1.84mol y= 4.82mol( )
Co = 1.84mol/2.00mol=0.92=92%
O] H®

N, (9)+3H,(9) ==2NH;(9)
C(s)+C0,(9)==2C0(9)

2.11) (2.9
Inké = G /RT
GO= HP (298.15K)-T S° (298.15K)

Ink® = -{ He (298.15K)-T S° (298.15K)}/RT
INKe = - H® (298.15K)/RT+ SO (298.15K)/R (2.16)
He (298.15K)  SP (298.15K)
(2.16)
InK® = A/T+B  (2.17)
A=- HP (298.15K)/R B= S° (298.15K)/R

H® (298.15K) ( ) A

Ink®  K® He (298.15K) ( ) A

T Ink®  K®

(2-16)

2.5 C(s)+C0,(g) ==2C0(q)

298.15K
1173K K
(2)298. 15K 1173K GO

C(s)+C0,(9)=2C0(9)
He (298.15K)={2 H® (CO g 298.15K)}



-{ H8(C,s,298.15K)+ (H® (CO,,q,298.15K)}
= 2x (-110.5)-0-(-393.5)}kJ- mol-1
=172.5kJ- mol-!
S8 (298.15K)={2S® (C0,g,298.15K)}-{S°® (C,s,298.15K)
+8° (CO, g 298.15K)}
={2x 197.6-5.7-213.6}J- mol-!. K-!
=175.9J- mol-1. K-1=0.1759kJ- mol-1. K-!
(2.9) G® (298.15K)  G® (1173K)

G® (298.15K)= H® (298.15K)-T S© (298.15K)
={172.5-298.15% 0.1759}kJ- mol-!
=120.1kJ- mol-!

G® (1173K)=  H® (298.15K)-T S® (298.15K)

={172.5-1173x 0.1759}kJ- mol-1

CO

=-33.8kJ- mol-!
(b)298.15K  1173K  K®
T=298.15K
Ink® =-  G® (298.15K)/RT
-120.1" 1000J- mol *
= R =-48.45
8.314Jmol - K™1° 29815K
K8 =9_1x 10-22
T=1173K
Ink® =- G (1173K)/RT
-(-33.8) " 1000J- mol *
= 1 = 3.466
8.314Jmolt- K'1” 1173K
K8 = 32
©
Go (
Ke
Co, Co,
FesC )
( 6.3 )
2.2.2
2-4 CO(9)+H,0(g) ==C0,(9)+H,(9)

( )



co
2-5 C(s)+C0,(g)=2C0(g)  HP

(K° ) CO,(

(A.L.LeCha-telier)

Ke
K® K®

K® Q ( )
Q=K
G=-RTINK® +RTINQ=RTIN(Q/K® )=0

G= GO +RTINQ
G® =-RTInk®

G=-RTINnK® +RTINQ

G=RTIN(Q/K® ) (2.18)
(2.18)
G=0
G=RTIN(Q/K® )=0
In(Q/K® )=0 Q/K® =1
Q=K®
G 0
G=RTIN(Q/K®) 0
IN(Q/K®) 0 Q/K® 1
Q K®
G 0

G=RTIN(Q/K®) O



IN(Q/K®) 0 Q/Ké 1

Q K°
Q K°
Q=K®
Q K®
HO GO
HO GO
H, 0, “
H2 02
2.3
( WV
v =vg~ldcy/dt
Vg B ( ) dc/dt
(O B (cs)

W, + 3H,— 2WH,
R RES el = dm ) 1.0 30 0

l—n.z l—n.s l+n.4
s @ EHEE el = A D 0.8 2.4 0.4



N, dcg/dt= -0.2mol- dm=3/2s H, dcg/dt= -0.6mol- dm-3/2s
NH;  dcg/dt= +0.4mol- dm-3/2s v
v =vgldcg/dt= (-1)-1(-0.2mol- dm-3/2s)
=(-3)"1(-0.6mol- dm-3/2s)
=(+2)71(+0.4mol- dm-3/2s)
=0.1mol- dm=3. s-?

2.3.1

aA+bB - gG+Dd

v =k{c(®M}* {c®}F  (2.19)

k
k
k
c(A)=1mol- dm-3 c(B)=1mol- dm3
v =k
k
k Y
A B a b A B
A a B b
n=(a+b)

a=1
NO,+CO—NO+CO, v =kc(NO,)- c(CO)
a b=1 1=2



2NO 2H,—N, 2H,0

2.6 1073K
2N0 2H,—N, 2H,0
mol - dm™3 .
c(No) c(Hy) ol - - 5™
1 6.00x 1073 1.00x 107 3.19x 1073
2 6.00x 1073 2.00x 1073 6.36x 1073
3 6.00x 1073 3.00x 1073 9.56x 1073
4 1.00x 1073 6.00x 1073 0.48x 1073
5 2.00x 1073 6.00x 107 1.92x 1073
6 3.00x 1073 6.00x 1073 4.30x 1073
€y
(2) 1073K
(3) c(N0)=4.00x 10-3mol- dm=3 c(H,)=5.00x 10-3mol- dm-3
1073K
D 1 3 c(NO) c(H,)
2 Y 2 c(H,) 3
3 v c(H)
v c(Hp)
4 6 c(H,) c(NO)
v 4 c(NO) 3 v
9 v  {c(N0)}?
v {c(NO)}?
v {c(NO)}*- c(H,)
v =k{c(N0) 2 c(H,)
@ 4

0.48x 10-3mol- dm=3.- s 1=k(1.00x 10-3mol- dm-3)>2
x 6.00x 10-3mol- dm-3
k=8.0x 10dmé- mol-2- s-!
(3) c(N0)=4.00x 10-3mol- dm-3 c(H,)=5.00% 10-3mol- dm!

1 6 k 8.4x 104dm6-mol-2-s-1



v =k c(NO)}- c(H,)
=8.0x 10%dmé- mol-2- s1x (4.00x 10-3mol- dm-3)2
x 5.00x 10-Imol- dm-3
=6.4x 10-3mol- dm=3. s-1

N0 Hy—»N, H0,( )
Hy0, Hy—2H,0( )

H,0, H,0,
H,0,

v=k{c(NO)}*- c(H,)

2.6
( )

v =k{c(A)}* {c®B)}F  (2.20)
Xy A B a b

x vy

2Na 2H,0-2NaOH H,
v=k
C ) ChL( )
CHCI3(9) Cl,(9) -CCl,(9) HCI(Q)

1
vV =kc(CHCl;)-  c(Cl,)}?
a=l b=1
x=1 y:% X yzlé- 1%
1

v = ke(CHCl,)- {c(Cl,)}?

2.3.2

873K



(S.Arrhenius)

( )
k=Ae-B,/RT (2.21)

In(k/A)=-E/RT  (2.22)

Ink=(-E,/RT) InA=a /T B (2.23)
E, A E,
R a=-E/R B InA
(2.21) T k T
(2.23) Ink 1/T Ink VAl
a -E/R ( T
B InA Ik T( 1/T)
a B E A (2.23) k T
N,Ox kK T
1
2.2
2.2 N,Og
/K T k/s L In(k/s™)
/K
338 0.002959 487 x 107 -5.325
328 0.003049 150 x 107 -6.502
318 0.003145 49.8x 1070 -7.605
308 0.003247 13.5x 107 -8.910
298 0.003356 3.46x 107° 10.272
273 0.003663 0.0787 x 1075 ~14.055
*N,Os k st
10°
2.2 In(k/s1) /K
2.2 o -12460K B 31.54
a B
Dy
=— 338K 298K
y X ~
2.2
a= vy/ X
-10.272) - (-532 - 4947
( )~ ) . = - 12460K

~ (0003356- 0002959)K™* ~ 0.000397K ~*



Inikizt)
500

2001
ool ™

Y1) Ml ks

1300 ™
1500 [~

00029 Qo031 00033 00035 00037

L{T/E)
Bzz Wp a8RE kS 1/TXRE
a =-12460K T=298K Ink=-10.272 (2.23)
-10.272=-12460K/298K f3
B =-10.272 41.81=31.54
- E,
R
E,=-Rx a =-8.314J- mol-!. K-1x (-12460K)
=103600J- mol-?
=103.6kJ- mol-!

a=

(2.23)
(@)
@ 16 2 17)
E. a
(298.15K) A
@ T K
3k T E,
2.
k(T k(T,) T, T, k
Ink(T2)=Ti‘2+B
Ink(T,) = —
() =5+ B
pkd2) _a _a_ & 10
W) TT, T, T %T, T
V(T,) = k(T,)- {c(A)}*- {c(B)}’ (@]
V(Ty) = k(Ty)- {c(A)}*- {c(B)}’ (2
1+ 2

V(T) k(M) {c(A}*- {c(B)} _Kk(T,)

V(T)  K(Ty): {c(A}- {c(B)Y ~ k(Ty)

(2.23)

He



v(T,) . k(T,) aei ig

In

VM) k) 6T, T
_-E,® 19
"R &T, T,o
— Ea(Tz - Tl)
(2.24)
1) T, T «( T, T) E, In{k(T,)/7k(T)}
In{v (T,/v(T))}
(2) Ea (TZ_Tl) ( T2 Tl) T1T2
In{k(@D/k(TD} In v (T)/v (T}
2.7 301K( 28 ) 4 278K( 5 )
48
288K( 15 ) 298K( 25 )
@
(2.24)
an(Tz) ~In K(T,) _ E.(T,-T)
v(T,) k(T,) RT,T,
T,=301K T,=278K
278K t,=48h
301K t,~ 4h
v(T,) _t,  48h
v(T) t, 4h
(M) E, (301K - 278K)
v(T,) 8314) mol'!. K17 278K~ 301K
48
= |n7 =2485
.~ 8314 27823301 2485 4

=75000J- mol-1=75kJ- mol-?!
@
288K 298K (2.24)
V(298K)  E (T,- Ty)
v(288K) ~  RT,T,
_ 75000J mol "' (298- 288)K
~ 8314Jmol "t K17 288K~ 298K

=1051




v(298K)

v(288K) 29
2.9
2.3.3
1.
Ea
( )
CO NO,-CO, NO
|:|—|:+D—IR~= 0-C =+ 0 »= § = 0-C-0+ -0
] 1]
FRT RS GTES) AR
o, NO(
cO  NO,)



2.3

BRIz
Bz RREGETFEHETEE

2.3 E,
E.( )=E* -E, E.C )=E
¢_EII
( B (En)
(ED E=E,,-E,
U E= U U H( dy  dp)
U= H
Ell_E|: U: H (2.25)
{F -E.C )}{F -E.( )}= H
E( )-E( )= H (2.26)
2.8
1 3
NH3(9) — 5 N2(9)+5 Ha(9)
300kJ- mol-!
(€H) £H® (298.15K)
He (298.15K)( )
HO (298.15K):{% #H® (N,,9,298.15K)
+:—; #H® (H,,9,298.15K)}- #H® (NH;,0,298.15K)}
={0+0-(-46.11)}kJ- mol-1=46.11kJ- mol-?
(@) E.( )= 300kJ- mol-!

E.( )
He (298.15K)
E.C )-E.C )=
E.C )= E( )-

(2.26) H

He (298.15K)
He (298.15K)



=~ 300kJ- mol-1-46.11kJ- mol-1=254kJ- mol-!
1 3
> N2(9)+5H,(9) - NH3(9) 254kJ- mol-

1(C mol-! H mol-1 )

( )
( 40kJ- mol-1)
( 120kJ- mol-1)

Na,S,05(aq)+H,S0,(aq) -
Na,S0,(aq)+H,0(1)+S0,(g)+S(s) (40 120kJ-
mol-1)

@ ( ) (

€

€)

( 2.4
Ea,1) 126 167kJ- mol-1(

2.4 E..o)



1
(@H) > N,+xFe - Fe,N

1
(2)Fe N+ > H, - Fe,NH
(3)Fe, NH+H, ==Fe NH,==xFe+NH,
1 3
2 ©)) Fe,N  NH;(Fe )
(€] E..2 @)
€)
126 +167
E.. 254kJ- mol-t ( 2-8) E,, TkJ- mol-
1=146kJ- mol-! (2.23) A
Ink, = —2L +1nA 1
- Eq
= +
Ink, RT InA (2
@) (€))
_ - Ea,2 - Ea,l
ln& - Ea,l - Ea,z
k, RT
k
In—2 =In—2%
1 k1
InV_z — Ea,l Ea2
vV, RT
T=298.15K
Vo __(254- 146)" 10003 mol ™t
vV, 8314J mol ' K'!” 20815k
Vv
~2£=80" 10"
1
T=773K( )
254 - 146) " 1000J- |1
Y2 = { ) 1000} mol = _,qg
V; 8314J- mol ~- K 773k
Vv
—2=20" 10"
vy
298K 773K

8x 18 2x 107 ( )



2

.3.4

CO4H,

CO H, 1.4 )

Cu CHyOH
3007, 20-30MFa  PER
ik FeCa

Hi CH,+H,0
507 Bim
Eu
BT
150°7, 15MPa
(
k

CoHagen +Hy00

17T0-200°C, 1-2MFa  tEiB S, SRS



(V,05)
( 5i0,)

</PGNO083.TXT/PGN>

2.4
2.4.1
1] ” ppm
mg- m-3 1ppm 106
1 ( ) 10%mol 1mol
( ) 1ppm 10°g
19
1.
S0,
NO S0, NO,
( 10p m )
0.15mg- m-3
2.
S0, S0, SO,
0.5 3 5
0.5 3
S0,
2PbS( )+30,=2Ph0+250,
4FeS,( )+110,=2Fe,0,+850,
S0, x(S0,) 0.3x 106
ppm partspermillion



x(S0,)  8x 106

S0, S0,

SOZ(g)+%OZ(g):SO3(g) K (298.15K)=9.2x 1012

S0, H,S0, S0,
S0, S0,
S0, 1
5 1952 12
S0,
(¢ SO0, )
0.15mg- m-3
3.
NO  NO, N,
1473K (
2273K) N, 0, NO

% Nz(g)+% 0,(g)=N0(g)

He (298.15K)=  (H® (NO g 298.15K)
1

1
- 5 0 (4,,0,208.150)+ 2 H° (0,,0,298.15K)

=90.25kJ- mol-! S8 (298.15K)= S® (NO g 298.15K)
1 1
- 580N, 9.298.15K)+ 25 (0,,0,298.15€) g 298.15K)

1 1
= 210.65—(§>< 191.50+§>< 205.03) J- mol-'1. K-?

=12.39J- mol-1. K-1= 0.0124kJ- mol-1. K-1
GO (T)= HO (298.15K)-T S8 (298.15K)
GO (298.15K)= (90.25-298.15x 0.0124)kJ- mol-1
=86.55kJ- mol-1
GO (1473K)= (90.25-1473x 0.0124)kJ- mol-1
=71.98kJ- mol-1
68 (2273K)= (90.25-2273x 0.0124)kJ- mol-!
=62.06kJ- mol-1

G®  40kJ- mol-!
NO
- DGY
RT
Ink® (298.15K)= -34.92 K® (298.15K)= 6.8x 10-16

Ink® =

S0,



Ink® (1473K)= -5.88 K® (1473K)= 0.0028
Ink® (2273K)= -3.28 KO (2273K)= 0.038
298K 1473K
NO
1mol 0.78molIN, 0.21molO, N, O,

xmol NO
1 1
> N, (9)+ 502 (9)=N0(g)

/mol 0.78 0.21 0
/mol  -Xx -X +2X
/mol 0.78-x 0.21-x 2x
078- x 0.21- x 2x

1 1 1
q {p™(NO) / p}
{p*™(N,)/p?}¥2{p*(0,) / pT}*?
{2x/1" p/p%
{(078- x) /1" p/p™Y?{(021- x) /1" p/p“}*?
2x » 0,0028(0.78 - x)¥2(021- x)¥?

» 0.0028(0.78)Y2 (021) V2
» 0.0011

1473K 1mol 0.0011molINO
NO

0.0028 »

0.0011
NO
NO 0, NO,
2NO(9)+0,(9)=2N0,(9)
v=kc?(NO)- c(0,) k= 2.5x 107dmé- mol-!- h-1
NO 0.40x 106 ( NO
) 0O, 0.21 1mol 273K
22.4dm3 298K 22.4dm3x 298K/273K=24.45dm3
298K
c(N0)=0.40x 10-mol/24.45dm3=1.6x 10-8mol- dm-3
c(0,)=0.21mol/24.45dm3=8.6x 10-3mol- dm=3
v=2_.5x 107dmé- mol-2- h-ix (1.6x 10-8mol- dm3)?x 8.6
x 10-3mol- dm-3
=5.5x 10~mol- dm-3- h-?

3 1.7x 10 %mol- dm-3
NO ( 0.40x 10-9) NO
NO, 3 ( 0.23

x 10-%)
NO (



0, CO0y)
NO, HNO,
3NO,+H,0=2HNO5+NO
NO, NO
NO,
NO,

NO,(9) ( 3920m) NO(g) +O(g)

NO 0, 0,
0(9)+0,(9) - 05(9)
NO 0, NO,

03(9)+NO(g) - 0,(9)+N0,(9)
NO,

0 0
g -

0 (a0 J+E+R—c\ +R—E\

H 1]

B Bm#E

0 0
P P
R—E\ +H0 = BT +HO,
|:| .
0 0
P Py
R-C+ 0 =R-C  -0-0-
0 o
P p
R-C'-0-0¢ +H0, - R—l:’/—n—n—m2
TR E Bt AEE

(peroxyacylnitrates PAN)
(CH5CO4NO,) 03

No, CO SO, 05 RCHO
0.20ppm  40ppm  0.20ppm  0.50ppm  0.60ppm

298K 1ppm (i)mg- m-3 M

N
0 24.45

“ g

Sciencel67 246 1970
1ppm 1x 10-6 1x10-6M @/24.450m3= 1x10-3M mgy
2445103 m3= M/24.45 mgm-3



0.10mg- m=3
0,

c co,
C0,(g)+C(s)==2C0(Q9)
H® (298.15K)=172.5kJ- mol-! 0

CO
10

20 CO
CO

4.00mg- m-3

2.4.2

80  99.9 )
2.
S0, SO,
[Ca(0H),]
3.
NO  NO,

NHy CH, (NH,)
NZ

CuO-CrO0(  CuCro0,)

6NO+4NH,=5N,+6H,0
BNO,+8NH,=7N,+12H,0

CH ~ CO
- (Pt-Rh)

2C0+2N0=2C0,+N,
4C0+2N0,=4C0,+N,

m m

Fe

Co



(a By )

o o ( 2He) B B
( €)Y ¢ X )
Co-60(59Co) y
Y
Y
Y
(
)
50mm Y Co-60
Y Ir-

192(3%21r) Cs-137(&'Cs) Eu-152(2Eu)

CO H, (CH,)
Cco (FesC) Fe,C H,
CH,
C-14(5'C) CO H,
CH, C-14
Cco CH,




U-238(5°U) « 4.5% 10%( ) Po-
214(5*P0) « 1.6x 10-%s
V=KX (2.27)
X
(2.27)
(2.27) ( )
In(x,/x)=kt (2.28)
X t
1
X=5% T Ty
1
ktl,zzln(xolx):ln(xolz Xp)=1n2=0.693
t1/2=0.693/k (2.29)
K-40  U-238 C-14
co, C-14 C-12 (
102 C-12 1 C-14 ) 5n
1N C-14
UN+yn®% C+1H
C-14 2N
JC®¥ N+ e ty, =5730a
s C  CO, ( )

uerEc

14
5 C



werec

2.9 Sc/gc
acrEc 0.795
JC® N+ e ,t,, =5730a (2.29)
k
OO OO _ ) 21x 104’
ty,  5730a
(2.28)
In(x,/x)=kt=1.21x 104a!- t
x=0.795x,
X X
1.21x 10%a™ t= '”70:'”0.79(;3x0 =1n1.26
In1.26
=——— 7 =1900a
1.21x 10*a
1900
Co, C/ZC (2.28)  (2.29)
t
H,0,( w3 ) (
) H,0,
H,0, 320 380nm H,0,
H202
1
Hzoz(l)—*Hzo(l)"'Eoz(g)
k  0.0410min-? w(H,0,)=0.030=3.0 (
0.88mol- dm3)H,0, 16.9min
30.0min 0.26mol- dm-3
HZOZ
(Nayp,07) (NaSn0;) 8-
) ( S) 298.15K
[S9 (298.15K)] [ ,S9(298.15K)] ©)
( G) 298.15K [
69 (298.15K)] [ ,G%(298.15K)]

) (K®) V) (K)



(1) 298.15K 69 (298.15K)

[ H%(298.15K) ] S9 (298.15K)
@)
2.1
2.1.1
Or=  HoT (S (2.3)

2.1.2
1 G

Gy 0

rGy=0

Gy 0
2. rOn @ G, rG(r]n

G,= GI4RTING  (2.4)

_{p(G) / p°}*{p(D) / p}“
{p(A)/ p}*{p(B) / p°}°

_{c(G) / ¢} %{c(D) / ¢}
{c(A) 1} {c(B) / ¢} °

0 G +40kJ- mol-t
G +40kJ- mol-?

2.1.3
1. 69 (298.15K)
6 (298.15K)
HY (298.15K) /S9 (298.15K)
(69 (298.15K)=Y 69 (298.15K) -y 69 (298.15K)
2.7)
(6% (298.15K)= HY (298.15K)-298.15Kx ,S% (298.15K)
(2.8)

2. 69(T)
G4 (T)= ,HY (298.15K)-T ,SY (298.15K)
(2.9)



/S9 (298.15K)
'S9(298.15K)=y {S9(298.15K) Y SY (298.15K) (2.1)

3. ,65(M [ @8]

2.2
2.2.1
1.C )
& g1 9 €q gy d
o = {P5(G) 1P} Hp™(D) /p}* 2.10)
{p*(A)/ p"}*{p*(B)/p"}
p(B)/p®= n@B)/n - p/p® (2.15)
C )
eq q1 95 ~€d gy d
o = (G [} 4c™(D) /) 2.12)
{c*(A)1cT}?{c™(B) /c}
2. ief:! K® T
Ink® =- GI /RT (2.11)
*3_K® HA T
InK® =- _HY/RT+ SS9 208.15K /R (2.16)
Ink® = A/T+B (2.17)
2.2.2
Q K®
Ke
2.3
2.3.1
aA+bB - gG+dD
v=k c(A) & c(B) P  (2.19)
v=k c(A) * c(B) VY (2.20)
(@ by x vy
2.3.2
_'Ea _i
Ink = RT +InA-T+b (223

WT) | k() - E,®1 10 Ey(T,- T)
v(@)  "k(T) R &, To  RTT,
2.3.3

(2.24)

2.3.4



NN
A~ b

NO,)
2.4.2

1.
M
€
®
4)
®)
*(6)
2

( S0, ) (o

S 59(0,,9,298.15K)  ,SY(298.15K) G

69(298.15K) Q K@ E,
3.

*4

H
S9 (298.15K)

(@Ag(s)  (MACI(s)  (c)Cu(s)

(DCHg (1) (€)C6He(9)

5H S G H s 6
6.
7. H9 (298.15K) S9 (298.15K)

(69 (298.15K)

T

8. CH4OH

CHOH(1)=CH (9)+ 5 0,(0)

(1) 101.325kpa  298.15K

@
( CH,OH 175K

9. K®

338K)

G 69 (298.15K)

68

(69 (298.15K)
N Q)



10. (H9(298.15K) S9 (293.15K)
Ke

11. K®

12.

2C1,(9)+2H,0(g) ==4HCI(9) 0,(9)
q Cl, H,0 HCI O,

16.

*17.

18. 180kJ- mol-!
48kJ- mol-1

19.

20.

21.
22.

*23.

@ S (

(69 (298.15K)

10



) N
®)

@
(HY (298.15K)=131.3kJ- mol-!

®)
v( )
(6)

2. (
@

@
(b)
(©)

&) H,(9)+Br,(9)=2HBr(g)

1 1
HBr (g)= H(9)+ 5 Br2(0) Ko

1
®) Jax 1072

10-2

@ ax 107
(3
(@)
(®)
(©)
(d)

@ NO(GY*+CO(g)= 5 Ny (6)+C0, (8)

373.2kJ- mol-!

(@
©
3.
D
N,(9)+3H,(9)=2NH;(9)
( 100K)
HY
G :
v )
(

q
9,

¢ )

« )
C(s)+H,0(9)=C0(g)+H,(9),

v( )
C )

C )

)
G (T)=10kJ- mol-!

K8 =4x

(c)4x 107

HY (298.15K)=-
NO  CO

(b)
(D

(HY (298.15K)=-92.2kJ- mol-t

v )



€
C(g)+C0,(g)==2C0(g)  ,HY (298.15K)=172.5kJ- mol-!

kC ) k(C )
v( ) v( ) K®
kC ) kC ) v( ) v( ) K8

*4. St (298.15K)

(a)K(s) (b)Na(s) (c)Bry(l)

(d)Br,(9) (e)KCI(s)

*5.

@

)

(©))

6. G2 (298.15K) Fe;0,(s) 298.15K

3
2Fe(9)+ > 0,(9)=Fe,05(s);
G2 (298.15K)=-742_.2kJ- mol-!
4Fe,05(s)+Fe(s)=3Fe;0,(s)
G (298.15K)=-77.7kJ- mol-1
( 6 )
7. 298.15K -236.7kJ- mol-?
H,0(1) - H,0(s)

298.15K

8. 3 4 S (298.15K)
G (298.15K) [ S (298.15K) £6 (298.15K)
9 (298.15K) (G%(298.15K)  ,H9 (298.15K)

/S9 (298.15K) ]
(1)3Fe(s)+4H,0(1)=Fe;0,(s)+4H,(9)
(2)Zn(s)+2H* (aq)=zZn* (aq) +H,(9)
(3)Ca0(s)+H,0(1)=Ca?*(aq)+20H (aq)
*(4)2H,0,(1)=2H,0(1)+0,(9)

9. (Sn0,)



¢y

@ ( ) ( C0,)
3 H(9) ( )
10.

C12H22011(5)+120,(9)=12C0,(g) +11H,0(1)

30
( ) (3.8 ) 37

11. 298.15K ( ) 500K ( )K®
(1)CaCo4(s)=Ca0(s)+C0,(9)
(2)CO(g)+3H,(9)=CH,(g)+H,0( 298.15K 500K

)
12. 8.0molSO, 4.0mol O, S0,

( ) 300kPa  220kPa
250,(9)+0,(9)=2504(9) S0,
13.
Ag,S(s)+H,(9)=2Ag(s)+H,S(9)
740K K® =0.36 1.0mol Ag,S
HZ

14.
Fe(s)+C0,(g) ==Fe0(s)+C0(9) i
Fe(s)+H,0(9) ==Fe0(s)+H,(9) K3

T/K K K9Y

973 1.47 2.38

1073 1.81 2.00

1173 2.15 1.67

1273 2.48 1.49

CO,+H, ==C0+H,0(Qg)
Ke
( 6 )
15. %Hz(g)+%CI2(g) = HCl(g) 298.15K K® =4_.9x
1016 H(298.15K)=-92.31kJ- mol-! 500K K [

St (298.15K) (G (298.15K) 1
16. C0,(g)+H,(g)=C0(g)+H,0(g) 873K

p(CO,)=p(H,)=127kPa p(CO)=p(H,0)=76kPa(

)



17. NO  Cl,

( )
2N0(g)+Cl,(g) - 2NOCI(g)

€y
¢)
3 2
4 NO 3
18. “ k K( K®)
19.
C+C0, - 2C0O

40x 4.184kJ- mol-! 900K 1000K

20. 0.1mol- dm-3NazAsO; 0.1mol- dm-3Na,S,0,

2H;As0;(aq)+9H,S,05(aq) — As,S;(s)+3S0,(9)+9H,0(1)+3H,S,05(aq)
17 As,S,
1515s 10 500s
S ¢
)
*21. H,0,

H,0,()® H,0()+0,(0)

75kJ- mol-1
54kJ- mol-1 298K
22. C(s)+H,0(9)=CO(g)+H,(9) 1
€))
@ « ) ( )
K& k() k()
23. 1300

1 1
INA@+50,@=NO@ 6% K



@
@__

pH

®

4)

3.1

3.1.1

o




BOC1) = %D(}

H,0(9) p(H,0) 100
p(H,0)=101.325kPa
@ C )
B A A
(
)
C ) C )
C p)
n(B) .
Dp=—=" p(A) (31
n(B) B n(B)/n B p(A)
2.
K
3.1
)
3.1
20 -15 -10 -6 -5 -4 -3 -2 -1 0
103 165 260 | 369 402 437 476 518 563 611
/Pa
391 422 455 490 527 568 611
/Pa
/ 5 10 20 30 40 60 80 100 150 200
873 1228 2339 | 4246 7381 19932 47373 101325 475720| 1553600
/Pa

[3]1 6-11 13



)
fp(freezingpoint

3.1
(101.325kPa)

3.1

3.1

bp(boilingpoint )

)

(100  373.15K)

101.325kPa
373.15K

pr( )
273.16K

273.16K

273.16K

Tep( )

373.15K

3.1

611Pa

273.16K



101325

B11

P U'[ED, Ej.l'rP&

Ty, 273, 16

I/K

3T3. 15Ty,

Blz. 1 SRS o L HASGRE S TEREER

( m 1kg )
Tpp=KppM (3.2)
Tep=KepM (3.3)
kpp  kfp
( K- kg- mol-1) 3.2 Kpp
Kep
3.2
kbp kfp
K- kg- mol?t K- kg- mol™?
117.9 2.530 16.66 3.90
80.100 2.53 5.533 5.12
61.150 3.62 - -
217.955 5.80 80.29 6.94
100.00 0.515 0.0 1.853
[7]1 10-17  10-22
« ) C,H,(OH),
3.
( )

3.2




3.2

3.3
3.3 (
) C )
( )
( )
(mol- dm-3)
M c (mol- dm=3) T
Vv
n
M =cRT=—RT
\/
M V=Nrt (3.4)
R
298.15K  0.100mol- dm3 (3.4)
R=8.314Pa- m3- mol-1. K1 mol- m3

c=0.100mol- dm-3=0.100x 103mol- m-3
M =cRT=0.100x 103mol- m-3x 8.314Pa- md-
=248kPa
2000kPa

780kPa

5.0 (0.28mol- dm3)

mol-1. K-1x 298K



3.1.2

273.15K 373.15K
« )
251K 218K
( 6.3 ) 373K
NaOH  NaNO, 413K
(
6.2 )
( )
( )
BaCl, 963  NaCl 801 77.5
BaCl, 22.5 NaCl 630
( )
(m

3.3




NaCl HCI(AB ) i 2 K,S0,(A2B )

i 2 3 CHsCOOH 1 1 (mol- kg?
mol- dm-3)
3.3 0.100mol- kg-! i
(3-3) = T ./ T
T /K Te/K L
NaCl 0.348 0.186 1.87
HCl 0.355 0.186 1.91
K580, 0.458 0.186 2.46
CH,COOH 0.188 0.186 1.01
AB  AB, AB
i 100
c f
a
a=fc
1
1 100 (
)
100
0.1mol- dm-3HCI H* 0.1mol- dm-3
3.2

3.2.1



1.

pH pH 7
"mol- dm=3 pH 7 c(H* aq) 10 'mol-
(1884 )
OH-
Na,CO,
pH
(1923 )
( )
NH,  Na,CO, co% pH
HCl(aq)=—=ClI-(ag)+H*(aq)
HAc(aq) ==Ac"(aq)+H"(aq)
NH; +4(aq) ==NH;(aq)+H*(aq)
H,PO; (aq) ==HPO}" (aq)+H*(aq)
HCO; (ag) ==C03" (aq)+H"(aq)
HCl HAc NH, H,P0O; HCO;
NH, HPO3 CO%
— +
NH,  NHj
NH;  NH,
) 3.4

3.4

c(H" aq) 10°
dm-3
H+

” NH3
Na,CO,

H+

Ac”



Be= i -+ 56l
HC1=H%C1™
H 0*=HHH0
Hs0-4=H™30%"
H.PO,=H+H.F0,
Hae=H% he”

t [AL CHD) 1=K [AL (H,0)  (OH) 1%

t
3 | MO0 DS 2%
H,S=H +HS"

H,P0y =H'+HFO3-

+_
W =H'+HH,

HCO 5 =H*Cog-

K3
4 <G (298.15K)
NH, (aq)+H,0(1) ==NH (aq)+0H~(aq)
£6% (298.15K)/kJ- mol-! -26.57 -237.18 -79.37 -157.29
G® (298.15K)={ .G® (NH ,aq,298.15K)+ G® (OH-,aq,298.15K)}
-{ G° (NH,,aq,298.15K)+ (G (H,0,1,298.15K)}
=(-79.37)+(-157.29)*-(-26..57)-(~23.718) }kJ .mol -1
=27.09kJ- mol-?
(1) HAC
HAc(aq)+H,0(1) ==H;0"* (aq)+Ac™(aq)
HAc(aq) ==H"(aq)+Ac™(aq)
HA
HA(aq) +H,0(1) ==H;0+(aq) +A"(aq)
HA(aq) ==H"(aq)+A"(aq)

(2.12)
K_(HA) = {c®(H",aq) /c%- {c™(Ac ,aq)/c}
2 c®(HA,aq) / c®
c® =1mol- dm Ky,

K Ka Kb



cM(H")- cH(A7)

K,(HA) = 3.5
c c
mol- dm-3
c a
( g ca_ ca’ (3.6)
a7 ¢(1l-a) 1-a ]
a l-a= 1
K= ca? (3.7)
a= .JK,/cC (3.8)
ct4(H*)=ca= K,- C 3.9
(3.8)
a K, a ¢
c
3.1 0.100mol .dm=3HAC H*(aq) pH
5 HAc  K,=1.76x 10-°
(1) 0.100mol- dm-3HAc H*(aq) xmol-
HAc(aq) ==H"(aq)+Ac"(aq)
/(mol- dm-3) 0.100-x x X
c®¥(H")- c¥(Ac) X- X s
K. = = =17 1
; ¢ (HAQ) 0100- x 170 10
Ka 0.100-x= 0.100
2
~ - 10°5
0100 176" 10
x= 133" 10°°
c®d(H*)= 1.33x 10-3mol- dm=3
) (3.9)( X ca)

c®(H*)= /K, c=+176" 105" 0100mol- dm 3
= 133" 10 °mol- dm™3

pH= -1g(1.33x 10-3)=2.88
0.100mol- dm~3NH,CI H*(aq)

NH,CI NH; (ag) Cl-(aq) Cl-(aq)
NH4 (aq)
NHZ (aq)+H,0(1) ==NH;(aq)+H;0*(aq)
NH (ag)=NH;(aq)+H*(aq)
6 NH,(ag) K,=5.65x 10710

NH4+ NH4CI

dm-3

pH



c¥(H*,ag)= K, c=+565 10" 0100mol- dm?
=75 10 °mol- dm3
pH= 1g(7.5% 10-6)=5.12

@)
H,S
H,S(aq)=H"(aq)+HS"(aq)
c¥(H")- c®¥(HS
Ky = ) ¢ HS) _g1 190
c®(H,9
HS~(aq)=H*(aq)+S*~(aq)
eq +y. o [ 2-
(= CHY) S g
cM(HS)
Kal KaZ HZS
K, >>Ks, H,S HS- H*
S2- H*
H+
Ka1>>Ka2 H*
(3-9) Kal Ka2
3.2 H,S  K,=9.1x 1078  K,=1.1x 10-12
0.10mol- dm3H,S H*(aq) pH
(3.9)
c¥(H*)= K, c=+91" 108 010mol- dm3
=95 10°mol- dm3
pH= 1g(9.5% 10°5)=4.0
H,C0;  H4PO, H*
pH
H,PO, Ko  (Ky=7.52x 10-3)
3.9 ( C-X= C)
Q) ca(H")
©)) NH;
NHs (aa)+H,0(1)=NH; (aq)+0H-(aq)
B
B(aq) +H,0(1)=BH"(aq) +0H"(aq)
& Y. oo -
K:Kb:C (BH"): c™(OH") (3.10)
c*(B)
Ka( Ko) Kp(

Ko Ac-

HS™

3.1

H+

H+

H+



K _ c®(HAc)- c®™(OH")
b c¥(Ac)

Ac” HAC
HAc(aq)=H*(ag)+Ac (aq)
_c®(HAc)- c®¥(OH"), c®(H")- c*(Ac)
ar c®(Ac) c*(HAC)
=c®¥(H"): c®(OH")

H*(agq) OH (aq) Ky
(22 )  K,~1.0x 10-%4

Ky K=K, (3.11)
Ka Kb
(. HCI HNOy) (C1- NO3)
(3.10) K,
Kp Kp Ka
HAc  K,=1.76x 10°° Ac- K= Ku _ 100,10 _1: =5.68x 10710
Ke 176" 10
6 Ko K,
K=K,=ca?/1-a (3.12)
a
K=K,= ca? (3.13)
a= \JK,/c (3.14)
ced(OH)=ca= /K, ¢ (3.15)
c®d(H*)=K,/c®(OH")
(3.12) (3.15) (3.6) (3.9
Ky, Ky c(OH) c(HY)
(3.15) pH Ac- CO%
pH 0.10mol- dm-3NaAc Na*(aq)
Ac(aqg) K,(Ac- aq)=5.68
x 10710 (3.15)

c®(OH )= K,  c=+568" 10" 010mol- dm™®
=75 10 °mol- dm®
ct(H)= K,/ 7.5x 10°® mol- dm-3=1.3x 10-°mol- dm-3
pH=  1g(1.3x 10-9)=8.9
€03 (aq) K

Ac- & NaAc



pH pH pH
pH 3.5
3.5 pH
pH pH
2.2 2.4 6.3 6.6
2.8 3.8 6.6 7.5
3.0 6.5 8.0
3.5 7.3 7.5
4.8 8.4 8.3
3. pH
€y
HAC
NaAc Ac” HAC
HAC HF NaF(F- ) NH,
NH4CI(NHZ ) HF NH,
pH
HAc  NaAc HAC NaAc
HAC Ac”
HAC H*
HAc(aq) ==H"(ag)+Ac"(aq)
H* Ac- HAC
Ac” HAC H*
H+
HAC Ac- H*
==H*+
H+
H* HAC HF NHZ
HCO; H,CO; H,PO, Ac™ F~ NH3 CO%‘ HCO4
HPOZ HAC-Ac"

NH; -NH, H,PO; -HPOZ



:Ceq(H+)' Ceq( )

e )
" . Y )
cHY =K, ——————= 316
H) =K m (316)
c™( )
H=pK, - lg—0—— 317
PH = pK, - 19 ( ) (317)
(3.16) K, (3.17)  pK, K,
pK,=-10K,
3.3 (1D 0.100mol- dm3HAc  0.100mol- dm-3NaAc
H* pH HAC
(@) 100cm3 1.00cm31.00mol- -3HCI
pH
€9 (3.16)
9 (HA
ceq(H+):Ka'L_°)
c(Ac)
K,=1.76x 10-5

c®d(HAc) c(HAc)-x= c(HAc)=0.100mol- dm-3
c®d(Ac’)=c(Ac’)+x= c(Ac)=0.100mol- dm-3

0100
eq(H )= -5 . -3= -5 . -3
c®(H)= (1.76x 107>x 0_’LOO)mOI dm—3=1.76x 10->mol- dm

(3.17)
c¥(HAC) _ 0100 _
S Em ) 475- 195705 =475
c=c®d(HAc)= 0.100mol- dm-3 HAC
176" 10 °mol- dm™®
0100mol- dm™3
( 3.1 0.100mol- dm-3HAc
HAC a= 1.33 )
(@) 1.00mol- dm-3HCI
100cm?®
(100 +100)cm®
HCI c(H")=0.0100mol- dm-3
Ac- H*
Ac- HAc Ac- HAC

pH = pK, - |

" 100% = 0.0176%

 100mol- dm~2 » 0.0100mol- dm-3

c®9(HAc)= (0.100+0.0100-x)mol- dm-3=(0.110-x)mol- dm-3
c®d(Ac™)= (0.100-0.0100+x)mol- dm=3=(0.090+x)mol.dm-3

H» 475 1go0= %) e 16920 _ 466
» 4, - - _» 4, - — =4,
P 90090+ x) 90,090
pH 4.75 1.00cm31.00mol -

dm-3HClI pH 4.66 0.09 pH

H+



1.00cm31.00mol- dm-3NaOH pH 4.84( )

2
Si0,
S10,+6HF=H,[SiF]+2H,0
HF H*
H* pH HF
NH,F
pH
pH
H,CO;-NaHCO,4 pH 7.4
: S ” pH 0.5
(3.17)
pH Ka
1 1
ceI(H")=K,
PH=pK,
pH PKa pH
pH=5
HAc-Ac~ (HAc-NaAc) HAc  pK, 4.75
pH pH=9 pH=7
NH,-NH; (NH;-NH,C1)  H,PO; -HPO3~ (KH,P0,-Na,HPO,) (

3.6)
3.6 pH



pH oK,
2.8 4.6 (HCOOH) (NaOH) 3.75
3.7 5.8 (HAC) (NaAc) 4.75
4.1 5.9 (NaOH) 5.41
(KOOCCgH,COOH)
5.9 8.0 (NaH,PO4) (NayHPO,) 7.21
7.8 10.0 (H3BO3) (NaOH) 9.14
8.3 10.2 (NH.CI) (NH3) 9.25
9.6 11.0 (NaHCO3) (NayCO3) 10.25
3.2.2
( ) (
) [Ag(NH;) L 1*
[Cu(NH;),1°*  [Fe(CN)¢]*-
( 6.1 )  [AG(NH3),ICI [Cu(NH5),1S0,
1.
(
[Ag(NH3),17) ( Ag")
C Car)
[Ag(NH3),1C1=[Ag(NH;),]*+Cl-
[Ag(NH3),]*
[Ag(NH3), 1" ==Ag*+2NH,
K_{Ceq('°~9+,<'v\t1)/Cq}{Ceq(Nst’v\Q)/Cq}2
{c®(Ag(NH )3, aq) / ¢}
K
K = {c*(Ag")}H{Cc(NH,)}?
Ceq(Ag(NH3)2+)
[Ag(NH3),]*

[Ag(NH ;),]" = [Ag(NH;)]" +NH,
= Ceq(Ag(NH3)+)- c®(NH3)
' c*(Ag(NH,)3)




[Ag(NH)]" =Ag™ + NH,
_CcM(Ag)")- c™(NHy)
2 c™(Ag(NHy)")
Ki- K=K

( ) K
K Ki  (

7)
Ke Ke

( )
[Ag™ +2NH; =[Ag(NH 5),]"
___ c™(Ag(NH,),)

T {cT(AGT)HC® (NH,)}?
Kf

1
Kf ZF
|

[Cu(NHs),1** H,S0,
H'(aq)  NH; NH; (a0) [Cu(NH3), 1%

[Cu(NH,) ]2 =Cu*+4NH,

NHy#+H*(aq)=NH; (aq)
[Cu(NH;),12*+4H* (aq)=Cu?* (aq)+4NH ] (aq)

Kj
[HoCl1,]%-+41-=[Hgl,]?> +4CI-
Ki([HgCl,]?-)=8.55x 10-16 Ki([Hgl,]?>")=1.48x 10-3°

K; ([HaCl1,12)>>K; ([Hg1,1%°) [HoCl,1%
[HoC1, 1% - [HgCL]- [Hg1, 1%
6.1

3.3



3.3.1

1] ” AgCI
Agt CI-
Agt CI-

EAE

o)

bgCl (=] hg (ag)+Cl- (ag)

K9 = K& (AgCl) ={c®(Ag",aq) / cT}{c*(CI",aq) / c}
K
K=Ksp(AgCI)=c®4(Ag")- c®9(CI")

Ko K

Ksp

AnB, (8) ==nA" (aq)+mB""(aq)

KA By) ={cH(A™)/cH}" {c*(B™)/ch}"™
Ko (A Bp) ={cH(A™)}". {c*(B™ )™ (3.18)
Ksp
Ke
3.4 25  AgCI

AgCl 3 4
AgCI(s)=—=Ag"(aq) + CI-(aq)
£6® (298.15K)/kJ- mol-l  -109.80 77.124 -131.26
GO (298.15K)= (G® (Ag*,aq,298.15K)
={77.124+(-131.26)-(-109.80)}kJ- mol-1
=55.66kJ- mol-!
Ink® =- G® /RT
25
-55.66" 1000J- mol !

8314J K'' mol !  29815K

InK® =InK%,(AgCl) =
=-22.45
— 4 -10
K% (AgCl) =178 10

3.5 25 1.77x% 10710



1.12x 10-%? ( mol- dm3 )
(1) AgCl s, mol- dm3 )

AgCI(s)==Ag"(aq) + Cl~(aq)

ced(Agr)=c®(Cl")=s,
Ksp=C®9(Ag*)- c®I(CI-)=s,- s,7s7
s, :@:\/177' 10 °mol- dm® =133 10 °mol- dm™®
(2) Ag,Cro, s, mol.dm3 )
Ag,Cr0,(s) ==2Ag*(aq)+Cro7 (aq)

ce(Cro¥ )=s,
ceI(Ag")=2s,
Ksp = {Ceq(Ag+)}8- {Ceq(Croi- )} — (232)2 s, = 452

1227 10% 3 S -3
52:3/K5p/4:3 mol- dn °=654" 10 °>mol- dm

4
AgCl Ksp Ag,Cr0, K, AgClI
(1.33x 10-°mol .dm-3) Ag,Cr0, (6.5x 10-5mol-
dm-3) AgCl  AB Ag,Cro, A,B
AB

AgCl BasO, CaCo,

3.3.2

C Kp

Q={c(A™)/c® }{c(B")/c® }"
Q={c(A™)}"{c(B")}"



Q={c(A™)}" {c(BM}" K,
Q={c(A™)}"- {c(B™)}"=K,
Q={c(A™)}" {c(BM}" K,

1.00dm? 0.10cm3( 2
)0.010mol- dm-3CaCl, 0.10cm30.010mol .dm=3Na,CO,
Ca®* (0% 1.0x 10-%mol- dm-3
Q=c(Ca?*)- c¢(C05 -)=(1.0x 10-%)x (1.0x 1075)
1.0x 1012 K, ,(CaC0;)=4.96x 107
CaCo, CaCl, 0.10mol- dm-3
Na,CO,
Q=c(Ca?*)- ¢(C05 )=0.050x 0.050
=2.5% 1073 K,,(CaC0s)
CaC0,
Ca?*(aq)+C03 -(ag)=CaC0,(s)
CaCo, ca®* C0% CaCo,
C(Ca?)- c(C05 )=K,,(CaCo,)
Ca2* CO0%
CaCOz(s) Na,CO,4
co% c(Ca?*)- ¢(C0% ) Kg,(Caco;) CaCo,
Ca* CaCO,
3.6 25 AgCl  0.0100mol- dm-3NaCl
AgCl  0.0100mol- dm-3NaCl xmol- dm-3
1.00dm-3 AgCl Ag*
c(AgH)=xmol- dm-3 cl- NaCl AgClI

c(C1-)=(0.0100+x)mol- dm-3

AgClI(s)==Ag+(aq)+Cl-(aq)
/(mol- dm-3) X 0.0100+x

c®(AgT)- c®I(CIT)=K,,
x(0.0100+x)=1.77x 10-10

AgClI 0.0100+x= 0.0100 xx 0.0100=1.77x 10-10
x=1.77x 10-8 AgClI 1.77x 10-8mol- dm-3
AgCl AgCl (1.33x 10°mol-

dm-3)



1/50 1/30)
Caso,
Caso,

10-9)

CaCo,

CaCO;  CaCo,

caco,
Caz*

Cag(PO,),

Cag(PO,),

Smol- dm3

OH-

Caso,

Na,CO,
CaCo,

CaS0,(s)==Ca2*(aq)+S03 (aq)
(K,=7.10x 105)  CaCo,
Ccaso, Ca?* Co35

Ca® CaSo,

~¢¥(CO%)  cM(COZ). c™M(Ca?t)
_ K4(Cas0,) 710" 10°°

CaS0,(s)+C0% (aq)==CaC0,(s)+S0% (aq)
e c®(S07 ) _ c*(S0% )- c¥(Ca*)

= = =143" 10*
Kep(CaCO,)  4.96° 10°°

Na,CO, Caso,

NagPO,

1.14x 10-"mol- dm=3  CaCOj

Na,CO, co%

Cog- —(aq)+H20(1)#OH_(aq)-l-HCO%- —(GQ)
HCO; (sq)+H,0(1)= OH-(aq)+H,CO04(aq)

pH

POy Ca?*
pH
HaFOy (aq) —=HFOZ™ (aq) == FOJ" (aq)
pH{EHEHN

Na,CO,

3CaC0,(s)+2P03 (ag)==Ca,(P0,),(s)+3C035 (aq)

Caso,

(Ksy=4.96%

CaS0,

7.04x 10

H,0



(€h) CaCo,
(HCI) CaCo, Co,
cos ( ) CaCo,

CaC0,(s)=Ca?*(aq)+C05 (aq)
€05 (aq)+H*(ag)=HCO; (aq)
HCO; (aq)+H"(ag)=H,C0;(aq)
H,C05(aq)=C0,(9)+H,0(1)

CaC0;(s)+2H* (aq)=Ca?* (aq)+C0, (g) +H,0(1)

CaC04+2H=Ca?*+C021 +H,0

H0  OH-
Fe(OH)4
Fe(OH);(s)+3H" (aq)=Fe3*(aq)+3H,0(1)
FeS ZnS
FeS(s)+2H*(aq)=Fe?*(aq)+H,S(g)
€y ( )
AgBr
Na,S,04 (Na,S;05- 5H,0 )
AgBr(8)+25,05" =[Ag(S;05),1*+Br-
AgBr [Ag(S;0:).1%  K;(3.46x 10714)
[AQ(NH )1+ K;(8-93x 1078) [Ag(S,05),1%
AR OH AL(OH), AL(OH),
AL, AL(OH),
Ca(OH), INES AL(OH),
NaOH AL(OH), AL(OH),
[AT(OH),]

1x 10-5mol-dm-3
AloO0 & AloO



AL(OH)3+0H- (. )=[AI(OH),]"
AI3*40H-=[A1 (OH),]-

€)) Ag,S CuS PbS
FeS
HNO,4
3CuS(S)+8HNO;( )=3Cu(NO;),+3S(s)+2N0(g)+4H,0(1)
HNO,4 §2- S §2- c(Cu?*)- ¢c(5%)

Ksp (CUS) CuS

3.4
3.4.1
3.5
( ) (
) ( )
1.
+1 Hg,Cl5(
) 2
HgCl, CH,C  CHyHgCI HCI
CH.Hg* 50

( Hg ) 0.05mg- dm-3
Cd?*



0.01mg- dm-3

( Cd )
Pb2+
(Cr07°)
( 6 Cr ) 0.5mg- dm3
(As03) As0¥ ASOY
) 0.5mg- dm-3
CN-
HCN
CN-
0.5mg- dm-3
Ca?* Mg?
H+
(pH )
)
pH
2.
)
( )

0.1mg- dm-3
( Pb ) 1.0mg- dm3
(Crog)
Cr3+*
(As0%)
( As
CN-
50mg
¢ O )
Cu?* Zn?* Fe3* Mn?* Ca?* Mg?*
Fe?* Fe¥*
OH- C0% pH
6 9
(
( )



+0, nunnunnvwe CO, + H,O
+0, %%%u%%yse CO, + H,0+S0%

+0, nununnnyme CO, + H,O+NO;

4mg- dm-3
( )
+H,0 %% %% %920 COy+H,S+CH,+NH;
(
)
0.5mg- dm-3

12

3.4.2
[11]
( )
C )



AI¥* (aq)+H,0(1)=A1(0H)** (ag)+H* (aq)
AL(OH)2* (aq)+H20(1)=A1 (OH) } (aq)+H*(aq)
AI(OH) ; (ag)+H,0(1)==AI(0H);(s)+H (aq)

pH AL(OH)2* AL(OH):  AI(OH),
pH pH
pH 6.0 8.5
pH 8.1 9.6
[AIZ(OH)nCIG—nXHZO]m
( 3# )
2.
(€))
Ca0 Na,CO; Na,S
(Ca0-Na,C03) Mg2* Ca?* Mg(OH), CaCO,
Ph2+ Pb(OH),
Ph2+ O ( pH )
Pb?*
Pb(0H), ( )
[ Ca(0H),]
pH (
) pH
Hg?* Na,S Hg?* HgS
FeS Hg?*

FeS(s)+Hg?* (aq)=HgS(s)+Fe?*(aq)
K ( 7.9x 10% )

(absorbingcolloidflotation ACF)

[ Fe(OH); 1] ( Hg>



Cd?* Pb?* ) [ (

) 13 1
2
0,( ) CL,( NaCl0) H,0, O, FeS0,
Fe S0, Na,S0, ( )
Fe?* Fe(OH), cl,
CN- N, CO,
Cr,0% Feso,
Cr,07 +6Fe2*+14H*=2Cr3++6Fe3*+7H,0
NaOH pH 6 8 Crd+ Cr(OH),
3.
( ) ( )
( ) ( )
(-SO03H) H*
[-N(CH;)30H]
OH- R
R SO;H R N(CH3)30H
( M* X )
R-SO;H+M*=R-S0 M+H*
4.
[ (
) ( ) 1
3.4
( )



3.5

3.5

Si0,

10° 10""m

m  Si0,
H,Si0,
H,Si0,=2H*+Si0%
Si03  Si0%
( )

H*)

10-%m
10-"m

H+



3.6

3.6

/W

-C00~

o/W(Oil/Water)
o/W
W/0(Water/01l)
w/0
10 W/0

/W




W/0

Ksp

—
M ™

3.1.2



( i) i AB 2 AB

2 3 I 1

3.2

3.2.1

1.

= +
2. pH
Ka Ko ) (298.15K )
- D,G,
q — r~m
InK T

(D) (HAC  HF)

HAc(aq)=H*(ag)+Ac (aq)
K=K, =B (36)
2 1-a '

a K,= ca? (3.7)
a».K,/c (38)
c®¥(H")=ca» K, ¢C (39)

2 (H,S  H,C0, HsPO,)

H* Ky O

a4

) (NH)

NH, (aq)+H,0(1)=NH (aq)+OH-(aq)
2
ca

K=Ky=1— (312)

a K,= ca? (3.13)
a»K,/c (3149)

ced(OH)= K, ¢ (3.15)
cea(H")=K,/ce(OH")

3. pH

pH
e
Coa(H) =K X % (3.16)
c(
c( )
H=pK,-lg —/———= 3.17
cea( )=cei( ) ctI(H)=K,

PH=pK,

K(

AB,



pH PKa

pH

3.2.2

Ki( Ke)

By () ==nA"" (aq) 1™ (aq)
Kep={CO(A)/c? - {CO(BT)/c” Y

Ksp={C®I(A™)}"- {c®a(B™}"  (3.18)
2. (s)
AB s=./Ke
AB  AB, s=3(Kg, /4
Ksp

3.3.2
1

Q={c(A™)}" {c(BH}" Ky

Q={c(A™)}" {c(B1)}"=K,,

Q={c(A™)}" {c(BH}" Ky AnBy
{c(A™)}" {c(B)}"=K,,

2.

A.B
{c(A™)}" {c(BHI" Ky,

Hg2* Cd?* Pb%* Cr,02 (

pH

Croz )



AB

pH

(€)) K,= ca?

€ c(H)

9. Na,CO, ZnCl,

10. NH,

(LNH,CI(S) (2)NaOH(s)

(3)HCI(aq) (4)H,0(1)
11.

(1)10-5mol- dm3HAc+10-°mol- dm-3NaAc
(2)1.0mol- dm=3HCI+1.0mol- dm-3NaCl
(3)0.5mol- dm=3HAc+0.7mol- dm~3NaAc
(4)0.1mol- dm-3NH;+0.1mol- dm-3NH,CI
(5)0.2mol- dm-3HAc+0.0002mol- dm-3NaAc
12.

470K]

pH

pH



13. pH 3

(1)HCOOH K,=1.77x 104
(2)Hac K,=1.76x 10-°
(3)NHZ K,=5.65x 10-10
14.
15.
16.
(1)CaCo,4 HCI
(2)Mg(0H), NH,CI
*(3)ZnS
(4)BasS0,
17. (H,C,0,) CacCl,
CaC,0,
*18.
(@) AgClI AgBr
AgBr
(@)Xl [Ag(NH;),INO,
K[Ag(CN),] Ag®  Agl
19.
20.
21.
22.
23.
CN-
1 . ( 13 +H
€D HX HY

CaC,0,

Ag* Agl

AgCl



(mol- dm-3) ( )
(2)0.10mol- dm-3NaCN pH NaF pH
CN- K, oK, « )
€©)) HAc-Ac™ c(HAc) c(Ac)
« )
(4)Pbl,  CaCO, 10-°
Ph2* Ca2t ( )
(5)MgCo, Ksp=6.82x 1076 MgCo,
c(Mgz*)=c(C03 ) c(Mg?*)- c(C03 )=6.82x 10-°mol*2. dm®
« )
2. ( )
(1) 1dm30.10mol- dm-3HAc NaAc
(a)HAc K, (b)HAC K,
© pH (d) pH
@) c 1 c(OH)
1 1
@3¢ O 5K,
(©) K, ¢c/2 (d)2c
3) 0.01mol- kg1
(a)HAc-NaCl-CgH,,04-CaCl,
(b)C4H,,05-HAC-NaCl-CaCl,
(c)CaCl,-NaCl-HAc-CgH;,04
(d)CaCl,-HAc-CgH,,04-NaCl
(4) AgCl 0.01mol-3CaCl, 0.01mol- dm-3NaCl
0.05mol- dm~3AgNO, So S; S, S3
(@s, s;1 s; S5 (D)s, s; s; S5
(©)s, s17s;, s; (Ds, s, s3 s
(5) Na,S,05 ( 1dm3Na,S,0;
)
(a)Ag,S  (b)AgBr  (c)AgCl  (d)Agl
[ Ksp]
3.
1.00gNH,CI
( )
(1)10.0cm30.10mol- dm=3HCI (pH ) __
(2)10.0cm®0.10mol- dm-3NH, ( )
(3)10.0cm? (pH )
(4)10.0cm3 PbCI, (PbCl, )



4.

(D1mol- kg-NaCl
(2)1mol- kg-1C¢H,,04
(3)1mol- kg-1H,SO,
(4)0.1mol- Kg1CH,COOH
(5)0.1mol- kg-INaCl
(6)0.1mol- kg-1C¢H;,04
(7)0.1mol- kg-*CaCl,

5. 0.60mol- dm=3( 3.5
NaCl
25 (
m 0.60mol- kg1)

6.(1)

(a)C05  (b)HS-  (C)H,0  (d)HPO;F  (e)NH;  (g)S*

@)

(a)H;PO,  (b)HAC  (C)HS  (d)HNO,  (e)HCIO  (F)H,CO,

7. 0.10mol- dm-3 (HCN) 0.010

HCN

8. 0.050mol- dm-3 (HCI10) H*

9. 0.20mol- dm-3

) OH- pH

) NH,CI NH,CI
0.20mol- dm-3 OH- pH

©)) @ @

10. 25  0.10mol- dn-3H,PO, H* pH

0.10mol- dm-3 K, 104 ceI(H)=
K,- c )
11. 5 6 0.10mol- dm-3

(DHAC  *(2)NaAc  (3)H,S0,
(HNH,  *(5)NH,CI  (B)NH,AC

12. 50.0cm30.100mol - dm3
20.0cm30.100mol- dm-3KOH 100cm?
pH 5.25
13. 20.00cm30.100mol - dm-3
0.100mol- dm-3HCI
) 10.00cm3HCI pH
2 20.00cm3HCI pH
) 30.00cm3HCI pH
14. 1.0dm3 HF F

€D 0.10molHF  0.30molINaF pH

(

pH



*(2) (1) 0.40gNaOH(s) (

1.0dm3) pH
3) pH=6.9  CcSI(HF) ¢ (F)
15. 125cm31.0mol . dm-3NaAc 250cm3pH 5.0
6.0mol- dm3HAc cmd
16. (

Imol- dm-3)
(D) [Cu(NH3),]%*+Zn?*=[Zn(NH;) ,]**+Cu?*

(2)PbC0,(S)+5%"=PhS(s)+C03

17. Pbl, ( 25 )

(1)Pbl, (mol- dm-3)

(2)Pbl, P2 I

(3)Pbl, 0.010mol- dm=3Kl Pb2*

(4)Pbl, 0.010mol- dm3Pb(NO,), (mol- dm-3)

18.  Pb(NO), NaCl Pb(NO,),
0.20mol- dm-3

(€)) cl- 5.0x 10~*mol- dm=3

) clI-

3) cl- 6.0x 10-2mol- dm-3 Pb2*

19. F- 1.0x 104
Ca?* 2.0x 10~*mol- dm=3 F

*20. Cd?* 0.10mg- dm-3

Cd?* pH



@)
rgm
_Gm
€))
)
4.1
4.1.1
1.
Zn(s)+Cu?*+(aq)=Zn?*+(aq)+Cu(s)
298.15K
69 (298.15K)=-212_55kJ- mol-?
4.1
Cu?*
U
Zn Zn2t Zn2*
Cu?* Cu Cu?*
K- CI-
K+ CI- )
2.
@
Zn(s)+Cu?*+(aq)=Zn?*(aq)+Cu(s)
Zn Zn(s)=Zn?*(aq)+2e"
Cu?* Cu?*(aq)+2e-=Cu(s)

Cu Ag



Cu(s)+2Ag* (aq)=Cu?*(ag)+2Ag(s)

Cu Cu(s)=Cu?*(aq)+2e-
Ag* 2Ag*(aq)+2e =2Ag(s)
(
) () ()
Cuz*
Cu
iE
Cu**(aq)+2e- & Cu(s)
+ne- #ik Ox+ne-==Re
n Ox Re
Oxidationstate( ) Reducingstate( )

Zn Cu Ag
Zn?* Cu?* Ag*

« / .
Zn?*/Zn  Cu?*/Cu
@)
(-)Zn  ZnS0,(c,) " CuS0,(c,) Cu(+)
@)
()
CuSO,(cy) |Cu(+)
(-)Cu]CusS0,(cy)
( H, H 0, OH)
( Fe¥* Fe¥)
Pt H*(c) [H,|Pt

4.1.2



Pt|H,(101.325kPa) |H*(1mol- dm-3)

« ) (
j 9 (H*/H,)=0.0000V

(-)Pt|H,(101.325kPa) |H* (Imol - dm-3) i Cuz*(Imol- dm-3)|Cu(+)

(-)Zn|znz*(Imol- dm-3) “H*(imol- dm3)[H,(101.325kPa) |PE(+)

j ( E9 E

4.2
4.2
H* 101.325kPa
2H"(ag)+2e"==H,(9)

2H +2e"==H,

4.3

(€H) 4.3
Hg,Cl,(s)+2e-==2Hg(1)+2CI-(aq)

1953 IUPAC

101.325kPa
(4



RT. c(Cl")

) (Hg,Cl,/Hg)=] q(H92C|2/H9)‘F|n o
F ( 4.1.3) R
KCI cl- 1mol- dm-3
0.1mol- dm-3 298.15K
0.2412v 0.2801v  0.3337V
)
AgCI(s)+e =Ag(s)+Cl~(m q)
T
(AGCI/AG)=] 9 (AgCI/Ag)- - n SE1)
] (A9 9)=] g 9)-1F o
KCI Cl- c(Cl-)=1mol- dm3 298.15K
0.22233V
« )
9.1 298.15K
9.2 ja
(
) ( s 1 ga )
Fe?*(aq)+2e-=—==Fe(s)
Fe2*+2e-=—Fe
+ne-=—=
4.1.3
( er) (Wmax)
erzwmax
E Q
Q E
96485C( )
n nx 96485C
Q=nF
F (Faraday) 96485C- mol-!

Gn=A G=W,,,=-nFE (4.1a)



imol- dm-3 p=p® =101.325kPa( 298.15K)
E® AG A GO

~A G® =nFE® (4.1b)
0 SJ V AG Sl J- mol-t
(4.1)
4.1
9.1
j 9(Cd>*/Cd)=-0.4030V j 9 (H*/H,)=0.0000V
j q J q

(-)Cd|Cd2*(mol- dm-3) " H*(Imol- dm-3)|H,(101.325kPa) [Pt(+)
Cd(s)+2H*(aq)=Cd?*+(aq)+H,(g)
Ee
E9=j 9( )-j 9( )=0V-(0.4030)V=0.4030V
n=2 (4.1)
A G® =-nFE® =-2x 96485C- mol-1x 0.4030V=-77770J- mol-!
=-77.77kJ- mol-1

4.1.4
1.
1mol- dm3
(
)
aA(aq)+bB(aq)=gG(aq)+dd(aq)
o= GO +RTIn {c/(G)/c%}9%c/(D)/c%}¢
{c/(A)/c}3{c/(B)/ch}®
(4.1)  AG=-nFE A G® =-nFE®
E=g0 _ RT {c/(G)/cq} {c/(D)/c%}¢ (424
nF {c/(A)/cq} {c/(B)/cq}
T=298.15K (4.2a) (4.2b)
F=96485c- mol-! R=8.314J- K-1. mol-! e
10

RT
~ X 2.303V=0.05017



_005017V {c/(G)/c}ofc! (D) /c%}¢

E=E® 4.2b
n {c/(A)/c}*{c/(B)/c}" (4:20)
(4.2a) ( )
(W.Nernst) (4.2b) 298.15K ( )
imol- dm-3 E=E®
imol- dm-3 (4.2)
4.2 1.06V
c(Cu?*)=0.020mol- dm-3 c(Zn?)

Cu?*+(aq)+Zn(s)=Cu(s)+Zn?*(aq)n=2
9.1 j 9(Zn?*/Zn)=-0.7618V | (Cu?*/Cu)=0.3419V
E®=j 9C )-j 9C )=0.3419vV-(-0.7618V)=1.1037V

005917V . ¢(Zn*")

E=E®
2 g C(Cu2+)

005917V, c(Zn*")
106V = 11037V - |
2 970020

c(Zn?*)=0.045mol- dm-3

a( )+ne”==b( )

(298.15K )
gy a
; a, 005917V {c( )l c }b
n {c( )/ c%
.., 005917V {c /cyP
n {c( )/ c’}
c® =1mol- dm3 (4.3)
., 005917V c’(
| I lg—
n C (

@
) (



B pg/p® H*/H,
2H*(aq)+2e"=H,(9)
c(H)/c® p(H)/p®
005917V | {p(H,)/ P}

. _ gyt
J(H THy) =] *(H" /Hy) + > g{c(H+)/Cq}2

3) H*
OH-
4.3 Zn%* 0.00100mol- dm-3
(298.15K)
9.1
Zn?*(ag)+2e-==7Zn(s) j 9(Zn**/Zn)=-0.7618V
c(Zn2+)=0.00100mol - dm-3 (298.15K )
a
n c ( )
0.05917Vv
0.7618V — 19(0.00100)
=-0.851V
4.4 OH- 0.100mol- dm-3
} (0,/0H)(p(0,)=101.325kPa T=298.15K)

9.1
0,(g)+2H,0(1)+4e-==40H-(aq) | 9(0,/0H")=0.401V
OH- 1

c(O0H)=0.100mol- dm-3
005917V g c*(OH")
n {P(O,)/ p%

j =i

_ i q_ 005017V, (0100)*
- 4 9101325/ 101325)
005917V

= 0401V - ————1g(0100)* = 0460V

1
5 Op*#H,0+26°=20H-

j=j°

005917V 0.05917V
- ————1gc?(OH") = 0401V - ———

|g(0100)? = 0460V

4.5 c(H")=1.000x 10-°mol- dm-3
c(Mn0, )=c(Mn*)=1.000mol- dm=3 T=298.15K
MnO Mn2*



MnO; +8H*5e-==Mn2*+4H,0 j 9(Mn0, /Mn?*)=1.507V
H* H*

0.05917vI c(MnO;)c®(H*)

5 97 omMn?
005917V
=1507V + T|g(1.000' 10 °)8

j (MnO; / Mn#) =j 9(MnO; / Mn#*) +

=1.507V-0.473V=1.034V

KMnO, (
7.2 )
@
4.3 1/1000
0.1V
©)) o)
M*(ag)+ne-==M(s) 2H*(aq)+2e-==H,(Q)
(©)) )
X,+2e-==2X"(aq)
©)
KMnO, H*
1.000mol- dm-3 1.000x 10°mol- dm=  MnO, /Mn?*
1.507V 1.034V
[
8 1) 3(2)]
4.2

4.2.1



j IV

1,/1- 1,(s)+2e-==21-(aq) +0.5355
Fedt/Fe?* Fed*(aq)+e-==Fe?*(aq) +0.771
Br,/Br- Br,(1)+2e-==2Br-(aq) +1.066
imol- dm-3 I-
Fe3*  Br, -
Br- Fe?* Br, Fe2t I-
Br- I, Fe¥* Fe¥
1, Br, - Br- Fe®
Br- - Br, -
imol- dm-3
OH-
)
J
jd
H* imol- dm-3
4.6
MnO, (. KMnO,) pH=5.00
j 9(MN0; /MNn2*)=+1.507V
j 9(Br,/Br-)=+1.066V
j 9(1,/17)  +0.5355V
@ j e j e
j (M0, /Mn?*)  j 9(Bry/Br) j 9(1,/17)
MnO; ( KMnO,) I-
(2)KMnO, pH=5.00 c(H")=1.00x 10-°mol- dm-3
( 4.5) | (MnOj /Mn2*)=1.034V

j 9(Bry/Br) ) (Mn0; /Mn?*) j 9(1,/1°)
pH=1.00 pH=5.00 KMnO,
Br, I



Br, MnO, (pH=5.00) I,

Cu?*
NaOH
H* NaOH Cu?* Cu(OH),
H,S0,
Cu?*
4.2.2
AG O AG O
A G=0
A G=-nFE
n F ( ) E 0 AG
E O 1 C) 1C)
( 0.2V)
E =
0 %) ) o e
o JC)H) 1C)
J
4.7

(1)Sn+Ph2*+(1mol- dm-3)==Sn2*(imol- dm-3)+Pb
(2)Sn+ph2*(0.1000mol - dm-3)==Sn2*(1.000mol- dm-3)+Pb

9.1
j 9(Sn?*/Sn)=-0.1375V j 9(Pb%*/Pb)=-0.1262V
(1)  c(Sn?*)=c(Pb?*)=1mol - dm3 j
j 9(Pb?*/Pb) j 9(Sn?*/Sn) Pb2* Sn

Sn+Pb2*(Imol- dm-3) - Sn?*(imol- dm-3)+Pb
(2) c(5n?*)=1.000mol- dm-3 c(Pb?*)=0.1000mol- dm-3

(0.0113V) |
| (Pb2*/Pb2+)=j ¢ (Pb2+/Pb)+@ 1gc(Pb2)
005917V

=-0.1262V+ —_—— 1g(0.1000)=-0. 1558V
| (Sn2*/Sn)=j 9(Sn2*Sn) | (Pb2*/Pb) (1)



Pb+Sn2*(1.000mol- dm-3) - Pb2*(0.1000mol- dm-3)+Sn
4.2.3

Ke
aA(aq)+bB(ag)=gG(aq)+dD(aq)
£ ga . 005917V {c(G) /%% c(D)/c%}¢
n g{c(A)/cq}a{c(B)/cq}b
g . d
E=po. 0.05917v IgCa(G) cb(D)
n c’(A)- c (B)
AG=0  AG=-nFE
E=0 c(D)/c®  9{c(G)/c® }9/{c(A)/
c® }2{c(B)/c® }* K® (4.2)
( 298.15K )SI
05917V
£a - 0059 1gK®
nE“
lgKY = ———
9% = 005917V
4.9 298.15K
Ee
4.8 4.7 (1)
(298.15K )
Sn+Pb2*=Sn2*+Ph
4.7
E® =0.0113V 4.4 298.15K
= 27 00113V
q = = =
19K = Qoso17v = oosai7y - 0°82
C(Sn2+)
lg———~ = 0.382
c(Pb?")
c(Sn?
XS o
c(Pb?)
c(Sn?*)=2.41c(Pb?")
Sn2+ Pb2* 2.41
4.9 298.15K K®

Cu(s) 2Ag*(ag)==Cu?*(aq) 2Ag(s)



Cu(s) Cu?*(aq) 2e~ j 9(Cu?*/Cu) 0.3419V
2Agt(aq) 2e- 2Ag(s);:j Y(Ag /Ag) 0.7996V

E® :j Q( )—J q :j q Ag*/Ag —j q(CU2+/CU)
=0.7996V-0.3419V=0.4577V
(4.4)
ne“ 27 04577V
lgK9 = = =1547
g 0.05917Vv 005917V 3
K9 =30" 10"
n=1 E® 0.3V K® 10° n=2 E® 0.2v
K® 106
4.2.4
1.
€y
MnO, ( ) ZnCl,  NH,CI
( 4.4)
(-)Zn|ZnCl, NH,CI( )IMNO,|C(+)
Zn(s)=Zn?*(aq)+2e"
MnO,

2MnO, (s) +2NH; (ag) + 26 = Mn,05(9 + 2NH(aq) + H,0

Zn(s) +2MnO, (9) + 2NH; (ag) = Zn?* (ag) +Mn,05(8) + 2NH,(ag) + H,O(1)
1.5V
NH,

4.4
&) ( )

( 1.25 1.3g- cm?)



( 4.5h)

(-)PbJH,S0,(1.25 1.30g- cm3)|Pb0,( )

(A ) Pb(s) S0% (ag) PbSO,(s) 2e
B ) PbO,(s) 4H*(ag) SO0% (ag) 2e- PbSO,(S)
2H,0(1)

Pb(s) PbO,(s) 2H,50,(aq) 2PbSO,(s) 2H,0(l)

4.5
(
4.53a)
2.0V PbSO,
H,0 H,S0, (
)
1.25 1.30g- cm3
1.20g- cm3
2.
@
(-)Cd|KOH(1.19 1.21g- cm3)|NiO(OH) |C(+)
Ca(s) 20H (aq) Cd(OH),(s) 2e-
2NiO(OH)(s) 2H,0(1) 2e- 2Ni(OH),(s) 20H-(aq)
Cd(s) 2NiO(OH)(s) 2H,0(D)
2Ni(OH)2(s) Cd(0H2)(s)
4.6
) ( ) HgO ( )
Zn0  KOH Zn0  KOH [Zn(OH), 1%
( 4.6)

(-)Zn(Hg) |KOH( Zn0) [HgO[Hg(+)



1.34V ( )

Q) -
(Liclo,)

2Li(s) 2Li (aq) 2e-
Ag,Cro,(s) 2Li1 (ag) 2e- 2Ag(s) Li2Cr04(s)

2Li(s) Ag,Cr0,(s) Li,Cr0,(s) 2Ag(s)

100 70

KOH
- ¢ 4.7

(-)CIH, [KOH(aq) [0, 1C(+)

1 23 4 5 11 6 7
8 9 10
2H,(g) 40H (aq) 4H,0(l) 4e-
0,(g) 2H,0(1) 4e- 40H (aq)

2H,(@)  0,(@) 2H,0(1)

4.3

Cu?* (ag) +2CI" (ag) = Cu(s) +Cl,(g);
DGY(29815K) = +197.01kJ- mol !



4.3.1
0.100mol- dm-3
Na,SO0,
0.100mol- dm-3Na,S0, 4.8 R
Vv A
1.23V
1.7V
+ -
T |
o1,
v ;
i
i/ H@ #
I :
Fa, 50 Mk
E48 MESEHEE BEl4.9 {ESBRHEERSE
aEE— T~ e
4.9 D
(2H*+2e-=H,) 20H-
1
:H20+ E 02+26_

( )Pt]H,|Na,S0,(0.100mol- dm3)[0,|Pt(+)




( ) (
[p(0;) p(H)  101.325kPa ]

0.100mol- dm=3Na,SO, c(O0H)=1.00x 10-"mol- dm-3=c(H")
1

, 005917V | {p(0,) / P} 2
2 9T 20n)

005917V
=0401V - ————1g(100" 10°") = 0815V

j(Oz/0H™) =] "

H,=2H*+2e"
0.05917V g c?(H")
2 {p(H,)/P%

0.05917V
+Tlg(100' 10 ")% = 0414V

j(H THy) =j 9+

=0V

E=j( )-j( )=0815V- (-0414V) =123V

1.23V 1.7V
4.1
( )
@
) (
)
( ) Na,S0,
2H+2e=H,
OH- 0,

EC ) EC ) (



) EC )

EC )=EC )-EC )
nC)
nC)
EC )= )M ()
4.1298.15K H, 0, ClI,
/(A m-2)
10 | 100 | 1000 | 5000 50000
0.5mol- dm™3H,S0, Hy (9)
Ag 0.097 0.13 0.30 0.48 0.69
Fe - 0.56 0.82 1.29 -
0.002 - 0.32 0.60 0.73
Pt 0.0000 0.16 0.29 0.68 -
Pt 0.0000 0.030 0.041 0.048 0.051
Zn 0.048 0.75 1.06 1.23 -
1mol- dm~3KoH 0,(9)
Ag 0.58 0.73 0.96 - 1.13
Cu 0.42 0.58 0.66 - 0.79
0.53 0.90 1.09 - 1.24
Pt 0.72 0.85 1.28 - 1.49
Pt 0.40 0.52 0.64 - 0.77
NaCl Cl,(9)
- - 0.25 0.42 0.53
Pt 0.008 0.03 0.054 0.161 0.236
Pt 0.006 - 0.026 0.05 -
[13] 6 20

0.100mol- dm=3Na,S0,
EC )= E( )-E( )=1.70V-1.23V=0.47V

¢ 4D
¢ 4D

4.3.2



cucl,

H* O
1.
(

2.

€))
(
(

)
H+

( Na,SOo, )

| (0,/0H")=0.815V

®)
100A- m-2
02
3.
@
H+
( -1.0V)
)
H+
€)) ( Pt
&)
02
$2- Br- CI-
Br, CI,

€)

)
)
)
[ (0.1 6)mol- dm-3]
OH- pH
pH=7 | (H'/H,)=-0.414V
4.1
H2
0.56V
100A- m-2 0.90v
H+
Zn?*  Fe?* H*
H+
H+
Nat K* Mg2* Al3*
H* ( Nat Kt Mgz+
)
Zn Cu Ag )
$2- Br- CI-
j 9(0,/0H) OH-
OH- ) (0,/0H")
OH- 1.7V
S
S05



[ 9(S,05 /502 )=+2.01V] | (0,/0H") OH-

NaCl ( )
Znso, ( )
4.3.3
1.

Na,[Zn(OH),]
2NaOH+Zn0+H,0=Na, [Zn(OH) ]
[Zn(OH),]> = Zn?*+40H-

NaOH ( 6.1 )
[Zn(OH) 1% Zn?*
( )
Zn2* [Zn(OH),]1*
Zn?*
Zn%* 2e- Zn
Zn Zn%** 2e
2.
(A1,05) 0.02 1um

5 300p m




4.10

[ (H2C;04)]

(
Al,0;4 Al0;
2A1 60H-(aq) AlO, 3H,0 6e( )
40H-(aq) 2H,0 0,(g) 4e( )
2H (aq) 2e H,(9)
[AI(OH)Cr,0,] [Al(OH)Cr0,]
2- 3- 4-
6- 7-
4.10

1986

)



4.4

( )
4.4.1
1.
«C 0
H,S SO, CI, ) (
)
FeO Fe,0; Fe30,
(Fes0)
Fe,C 0, 3Fe CO,
Fe,C CO, 3Fe 2CO
Fe;C H,0 3Fe CO H,
(
4.11)




0,/0H- H*/H,

%Oz(g) +H,0O(l) +2e° =20H" (aq)
0.5mol- dm3

2H*(aq) 2e H,(9)

( )
%Oz(g) +H,0O(l) +2e° =20H" (aq)
J ( )
J ( ) ( 4.12)
4.4.2
M==M"*(aq)+ne-
M- M (aq)+ne-

M*(aq)+ne” - M

imol- dm3 HCI

HCI Fe - Fe?*(aq)+2e-



2H"(aq)+2e" - H,

4.2
4.3
« )
)
[E=) C )-1 C )]
4.2 )} (V)
3%NaCl 0.05moll .dn~3Na,S0,
-1.6 -1.36
-0.6 -0.47
-0.91 -
-0.83 -0.81
+0.23 -
-0.50 -0.26
-0.52 -
-0.45 -
-0.02 +0.035
-0.26 0.26
-0.25 0.17
-0.09 -
-0.18 -
+0.05 +0.24
+0.20 +0.31
4.4.3
1.

H,S NaCl



@

(Na,Cr0,) (Fe;05)
Cr,0;
2Fe+2Na,Cr0,+2H,0  Fe,0,+Cr,05+4Na0H

OH-(0,+2H,0+4e-  40H")

Zn?*+20H" - Zn(0H),(s)
[Ca(HCO,),] OH-

CaZ*+HCO ; +0H- - CaC04(S)+H,0
[ Nag (PO3)¢]
Ca? [NasCaP40,5] 1

@
NSO [
(CHeN,1  T1B-5( ) (
)
[(C6H11)2NH20NO] [(C6H11NH2)2C02]
[(C5H7),NH,0NC]
( RNH, -NH, )
( RNH, -R )
H* (RNH,) [1;} s=0)

H+
RNH,+H==RNH ;
§L> S=04HY = i}sm{’f

H+



(

R-NH,

( )
2.
(
@
(  4.13)
4.13
5
@)
« )
(Cr03)
)
Fe=Fe2*+2e-
Fe2* Ccr,0% (
6Fe2*+Cr,02 +14H"=6Fe3*+2Cr3*+7H,0
Fed*
[Fe,(S0,);]

( 4.14)

Cry07 )

[Fe(H,P0,);]



4.14
Cr,03 +14H*+6e =2Cr3*+7H,0
2H*+2e=H?(Q)

(100mm )
( )
4_15
) (0.1 1mm)
B 15 EHENTTEE
4.16
( FA4E)
i R
C PR ) T C Pk )
(TN TE ®)MLi=
El4. 1r BBEFEMITERETEE
14 18 NaCl
Fe=Fe2*+2e-
2H*+2e7=H, (q)
Fe2* OH- Fe(OH),

Fe(OH),



ABS

ABS( -
@
@)
€))
( Sn*)
@
Cu2*
( AgNO,

)

( 83 )
- )
( 6.4 )
(Cr0y)
(>c=0) (-0H)
( AgH)
1 200nm

SNCI,+H,0=Sn(OH)CI (s)+HCI

2Ag*T+Sn2*=Sn**+2Ag(s)

(-S05H)

( 7.2

Ag*



(HCHO)
HCHO+OH- %434® H,(g)+HCO0~ (1)
CuZ*+H,(g)+20H — Cu(s)+2H,0(2)
HCHO+OH- %4 344® H,(g)+HC00~(3)
D Ag €

Cu?*+2e-=Cu(s)
2HCHO+40H-=2HCO0-+H, (g)+2H,0+2e"

Cu?*+2HCHO+40H-=Cu(s)+2HCO0-+2H,0+H, (g)
0.05 0.2um

4.1
4.1.1
Cu?*/Cu
(-)Zn|Zn?*| |Fe?* Fed*|Pt(+)

Zn(s)=Zn?*(aq)+2e-

Fed*(aq)+e=Fe?*(aq)
4.1.2

j9(H"/H,)=0
4.1.3
A G,=-nFE A ,GY=-nFE® (4.1)

F 96485C- mol-!
4.1.4

a A(ag)+bB(ag)=gG(aq)+dD(aq) 298.15K

005917V {c(G) / ¢} {(D) / '}

T YAy o) )

®

(4.2)



a( )+ne =b( ) 298.15K
gy a
| q+o.05917v| {c( )/ c }b
n {c( )/ c%
gy b
_iq. 008917V {d )/c }a (4.3)
n {c( )/ ¢
(4.2) (4.3) (298.15K )
M (p/p%)
H, H*
) H, OH
H*  OH
4.2
4.2.1
4.2.2
JC) 1 () AG, 0
4.2.3
KG
298.15K
g__ NEY
lgK™ = S ose17v (44
Ke
4.2.4
4.3
4.3.1
( )



4.3.2

H* H* H* 1.0V
Zn?* Fe?* Cu® H* (Na*  Mg?*
A|3+ )

OH" 1.7V
¢ Zn Cu) $?- Br- ClI- OH SO%

4.3.3

1.

A w DN

g~ WD

7. KMnO,

10. () (Sn2/Sn) | (Sn*t/snZ)
] (0,/H,0) sncl, Sn2+ (©,)



11.

12.

(-)Zn|ZnSO,(1mol-

@
@
(b)
©)
(d)
)

13.
14.

15.

16.

17 .H*/H,

18.

19.
20.
21.

22.

)

€
®

4)

ZnS0,
ZnS0, NaOH

Cuso, H,S

dm=3) ] |CuS0,(1mol- dm-3)|Cu(+)

Zn2*/Zn Fe2*/Fe

Ag Au Pb Ni Fe Zn

( "

0.1mol-

1mol- dm~3CuS0,

Cu?*

E(C ) )
Ke

Ee



)
(-)Cd|Cds0,(1.0mol- dm-3)]|CuSO,(1.0mol- dm-3)|Cu(+)

Cdso, Na,S Cuso, CuS0,- 5H,0

« )
2. ( )
€y
Cr,02 +6Fe?*+14H*=2Cr3*+6Fe3*+7H,0

2Fe3*+Sn2*t=2Fe2*+Sn4*

(a)sn** Fe¥*  (b)Cr,0&  Sn*
(c)Cr3+  sn**  (d)Cr,05  Fed*

@
[ p(H,)=101.325kPa]

(2)0.1mol- dm=3HCI
(b)0.1mol- dm-3HAc+0.1mol- L-INaAc
(c)0.1mol- dm-3HAc
(d)0.1mol- dm-3H,PO,
3
Ni(s)+Cu?*(aq) —» Ni?*(1.0mol- dm-3)+Cu(s)
Cu®
(2)5.05x 10-2’mol- dm-3
(b)5.71x 10-2'mol- dm-3
(c)7.10x 10-**mol- dm-3
(d)7.56x 10-1Imol- dm-3
® _

(@ (b) ©

3.

(D) cl- Brr I I- Cl- Br

(a)KMnQ, (b)K,Cr,0, (©)

(d)Fe,(S0,)4 -

@)

(-)pt|Fe**(dmol- dm-3) Fed*(0.01mol- dm-3)||Fe2*(imol- dm-3)
Fed*(Imol - dm=3)|Pt(+)

3) Li* Na* K- znZ Ca?*
Ba?* Ag*

4. ( )

(1)Zn+Fe?*=Zn?**+Fe

(2)21-+2Fe3*=12+2Fe?*

(3)Ni+Sn+*=Ni2++Sn2*



(4)5Fe?*+8H*+Mn0 ;, =Mn?*5Fe3*+4H,0
5.
6. Ok
Cl, (2)Pb  Pb%* (3)Fe** Fe?*
(a)Fe?* Fe (b)Ag* Ag (C)NO, NO
7.

( )
(1)c(5n?*)=0.0100mol- dm-2 c(Pb2*)=1.00mol- dm-3
(2)c(Sn?*)=1.00mol- dm-3 c(Pb2*)=0.100mol- dm-3

8. Zn+Fe?*(aq)=Zn%*(aq)+Fe  298.15K
Fe2+ Fe?*(aq) Zn?*(aq)
9. ( 298.15K)
21-(aq)+2Fe3*(aq)=1,(s)+2Fe?*(aq)
€y
)
€)

(@) c(1-)=1.0x 102mol- dm-3 c(Fe3*)=c(Fe?*)/10
10. pH=5.00 H*(aq)

2Mn0; (agq)+16H*(agq)+10C1-=5CI,(g)+5Mn?*(aq)+8H,0(1)

11. c(Ni?*)=0.0100mol- dm-3
0.315V
12. H,(101.325kPa) |H+(0.10mol - dm-3)|Pt
H,(101.325kPa) [H*(xmol- dm-3)|Pt
0.016V H*
X
13. ( Imol- dm-3)
(1)Ag*+Fe?*==Ag+Fe3+
(2)2Cr3*+31,+7TH,0==Cr,02 +61-+14H*
(3)Cu+2FeCl;==CuCl,+2FeCl,
14. pH=4.0 ( H
OH- )

(D)Cry07 (ag)+H* (aq)+Br-(aq) - Brp(1)+Cr*(aq)+H,0(1)
(DMn0; (ag)+H*(aq)+Cl-(aq) - Cl,(g)+Mn** (ag) +H,0(1)

15.
Fe3*(aq)+1-(ag)=Fe?*(aq)+1/21,(s)
2mol- dm-3Fe3*  2mol- dm=3I-



16. (Co** Co )
1.64V j 9(C1,/C1-)=1.36V

@ ( )

)

®3)

(4) Co?** 0.010mol- dm-3

17.

MnO, (s)+2Cl1-(aq)+4H* (aq)=Mn?*(aq)+Cl,(g)+2H,0(I)
18.
Cu(s)+2Fe3*(aq) ==Cu?*(aq)+2Fe?*(aq)

19.

(1)  Niso,

@) MgCl,

(3)  KOH

*20. c(Ni?*)=0.10mol- dm-3 Ni

pH  ( Ni

0.21V)

21. (imol- dm=3)

*22.

Agt(aq)+e-==Ag(s);j 9 (Ag*/Ag)=0.7996V
AgBr(s)+e-==Ag(s)+Br-(aq);j 9 (AgBr/Ag)=0.0730V

j AgBr

*23. 1.0mol- dm=2 HCI 1.0mol- dm-3
HI L 2Ag(s)+2H*(aq)+21-
(ag)=2Agl (s)+H,(9) j “(Ag'/Ag)  Kg, (Agh) j 1 (Agl/Ag)

]



@ ( )
S p d
2)
( ) s pdds f
€) _
(s-p )
©) ( )
5.1
1913 (N- Bohr)
r
r E
% n
r=a,n? (5.1)
1312 I
E=- 2 kJ- mol (5.2)
&e1 10
v=3.29x 10%¢—- —=+ (5.3)
en; n;
ay=0.053nm n=1 2 3 4 ny
n;



5.1.1

(deBroglie)
)

\Y

10%m. st

[ 5.1@®]

5.1

5.1.2

h(6.625x 10%J. S)

h
| =— 5.4
py .4
9.1x 10-3%kg
(5.4) 0.73nm
1927

-1(b)]

(

1924
(
m
1.0x
( 10°5nm)
(

Xy 2)



(E.Schr &dinger)

1.
E
(5.2)
| m )
€D n 1234
) n
(2) | 0 1 2 (n-1)
n n=1 | 0
| 0 1 n=3 4 | 0 1 2
1 2 3 |
) -0 1 2 3 S P d f
€)) m 01 2 +3 + 1
m | I=-0 1 2 3
1 3 5 7 m ( )
n=1 | 0 m 0 n 1
(L 0 0
( 5.6) n=2 3 4 n I m
4 9 16
n I m 5.1
ms(
5.1
n | m
1 0 0 1s 1
2 0 0 2s {
2 1 0 =1 2p %4
3 0 0 3s 1P
3 1 0 +1 3p 3y9
3 2 0 1 +2 3d S
4 0 0 4s 10
4 1 0 1 4p §;16
4 2 0 =1 +2 4d 7L
4 3 0 +1 +2 +3 4f
)
I m
v e
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y (r.a.f) R v Y(@.f)

1s 1 e‘r/ao 2 ige— riay 4i
pa?s Vao i

2s 1 _rl2a _ -rla, \/I
( ) ’ 8a0 a2 2 ao ) 4p
pz | 1

pao =h)
P cosq
i W

i
—3(—) e %% cosq

pao 2N

U
T
T
2px 1 r)%a. ! — _\a-l23 \/Esinqcosf
( ) ° sinq cosf ?/ 24a0(a0) 4p
I
T
p

oo
4psmqsm

2py r -2 . .
~ —(—)e % gnqgsinf
4\)pa8 3

= ie'aLo—R Y, =2 ie'e‘_ro \/i (56)
yls_ pag — Ns Is = ag 4p .

Y@ o9) 6 o

5.3
53 s p d
S 1s
|1
Y
® 9)
1
™ ¢ 5.3
pZ
3
YpZ:J%cosq
0 Yp,—6
¢ 5.3 P,
pZ
3
Yo, = J% cosq 0 Yoz
] 0° 30° 60°  90° 120° 150 ° 180 °
cos 0 1.00 0.87  0.80 0 -0.50 0.87 -1.00
Ypz 0.49 0.42  0.24 0 -0.24  -0.42  -0.49




180°

XX y vy z X

5.1.3
1.
W)
w2
Uk (

0.42
(5-4)
z
Yoz
YPZ sz
0° cos6 =1 Yoz z
VA 5.3 3 p
Xy z
Py Py P,
d?  dy2.2 Y
dy dy; dy, Y
z)45° d,2
¢ 5.3
W32
P
yiur
W?)
(5-6)
)
1 -Z
2 a,
Yis=—3¢€° 6.7
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(B.7) 1s

LIJZ
1
1
2s 2p 3s3p 3d
5.5 1s
2.
( 5.6)
(€)) s pd
p d
@)
n
56 s p d
3.
dr (41t r2R2%dr
¢ 5.7
1s 2s 3s
3s 3p 3d 3
n
1s 2p 3d
5.8 1s 2p 3d

5.2

¥ 6
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¢

)
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109

5.2.1

[€)) | n
Els EZs ESs

(2) n |
Enp End Enf

€)

ns

5.9

5.9 7 ) 20 (Ca) 3d

4s 21 (SC)
3d 4s 3d
4d 5s bd 6s

5.2.2

5.3
(Pauli)
(Hund)

(L.Pauling)
1s 2s 2p 3s 3p 4s 3d
4p 5s 4d 5p 6s 4f 5d 6p 7s b5f

15! 1s?
25172 2pt-8

3d
4s



3572 3pl-6
3572 3gl-10 4pt-6
552 4gL-10 5pl-6
652 4f1-14 5gl-10 6pl-
73-2 5f1-14 6dl—10
5.3
K L M 0 P Q
1s 2s 3s3p3d 4s 4p 4d 4f | 5s 5p 5d 5f] 6s 6p 6d| 7s
1 H 1
2 He 2
3 Li 2 1
4 Be 2 2
5 B 2 21
6 C 2 22
7 N 2 23
8 0 2 24
9 F 2 25
10 Ne 2 26
11 Na 2 26 1
12 Mg 2 26 2
13 Al 2 26 21
14 Si 2 26 22
15 P 2 26 23
16 S 2 26 24
17 Cl 2 26 25
18 Ar 2 26 26
19 K 2 26 26 1
20 Ca 2 26 26 2
21 c f 2 26 261 2
22 Ti 2 26 262 2
23 v 2 26 263 2
24 Cr 2 26 264 1
25 Mn 2 26 265 2
26 Fe 2 26 266 2
27 Co 2 26 267 2
28 Ni 2 26 2638 2
29 Cu 2 26 2610 1
30 n 2 26 2610 2




K M N 0 P Q
1s 2s 3s3p3d 4s 4p 4d 4f | 5s 5p 5d 5f] 6s 6p 6d| 7s
31 Ga 2 26 2610 21
32 Ge 2 26 2610 22
33 As 2 26 2610 23
34 Se 2 26 2610 24
35 Br 2 26 2610 25
36 Kr 2 26 2610 26
37 Rb 2 26 2610 26 1
38 Sr 2 26 2610 26 2
39 Y 2 26 2610 261 2
40 Zr 2 26 2610 26 2 2
41 Nb 2 26 2610 263 1
42 Mo 2 26 2610 2614 1
43 Tc 2 26 2610 265 2
44 Ru 2 26 2610 266 1
45 Rh 2 26 2610 267 1
46 Pd 2 26 2610 268
47 Ag 2 26 2610 26 10 1
48 Cd 2 26 2610 26 10 2
49 In 2 26 2610 2610 21
50 Sn 2 26 2610 26 10 22
51 Sh 2 26 2610 26 10 23
52 Te 2 26 2610 26 10 24
53 | 2 26 2610 26 10 25
54 Xe 2 26 2610 2610 26
55 Cs 2 26 2610 26 10 26 1
56 Ba 2 26 2610 26 10 26 2
57 La 2 26 2610 26 10 261 2
58 Ce 2 26 2610 26101 261 2
59 Pr 2 26 2610 26103 26 2
60 Nd 2 26 2610 26104 26 2




K M N 0 P Q
1s 2s 3s3p3d 4s 4p 4d 4f | 5s 5p 5d 5f] 6s 6p 6d| 7s

61 Pm 2 26 2610 26105 26 2

62 Sm 2 26 2610 26 106 26 2

63 Eu 2 26 2610 26107 26 2

64 Gd 2 26 2610 26107 261 2

65 Td 2 26 2610 26109 26 2

66 Dy 2 26 2610 26 1010 26 2

67 Ho 2 26 2610 26 10 11 26 2

68 Er 2 26 2610 26 1012 26 2

69 Tm 2 26 2610 2 6 10 13 26 2

70 Yb 2 26 2610 26 10 14 26 2

71 Lu 2 26 2610 261014 261 2

72 Hf 2 26 2610 26 10 14 262 2

73 Ta 2 26 2610 261014 263 2

74 W 2 26 2610 26 10 14 264 2

75 Re 2 26 2610 26 10 14 265 2

76 Os 2 26 2610 261014 266 2

77 Ir 2 26 2610 26 10 14 267 2

78 Pt 2 26 2610 261014 269 1

79 Au 2 26 2610 26 10 14 2610 1

80 Hg 2 26 2610 26 10 14 26 10 2

81 Tl 2 26 2610 261014 2610 21

82 Pb 2 26 2610 26 10 14 2610 22

83 Bi 2 26 2610 26 10 14 26 10 23

84 Po 2 26 2610 261014 2610 24

85 At 2 26 2610 26 10 14 26 10 25

86 Rn 2 26 2610 26 1014 2610 26

87 Fr 2 26 2610 26 10 14 2610 26 1

88 2 26 2610 26 10 14 26 10 26 2

89 |ﬁ_| 2 26 2610 261014 2610 261 2




(n-1)d

K L M N 0 P Q
1s 2s 3s3p3d 4s 4p 4d 4f | 5s 5p 5d 5f] 6s 6p 6d| 7s
90 Th 2 26 2610 26 10 14 26 10 262 2
91 Pa 2 26 2610 26 10 14 2610 2 261 2
92 U 2 26 2610 26 10 14 2610 3 261 2
93 Np 2 26 2610 26 10 14 26104 261 2
94 Pu 2 26 2610 26 10 14 26106 26 2
95 Am 2 26 2610 26 10 14 26107 26 2
96 Cm 2 26 2610 26 10 14 26107 261 2
97 Bk 2 26 2610 26 10 14 26109 26 2
98 Cf 2 26 2610 26 10 14 2 6 10 10 26 2
99 Es 2 26 2610 26 10 14 2610 11 26 2
! 100 Md 2 26 2610 26 10 14 2 6 10 12 26 2
101 No 2 26 2610 26 10 14 26 10 13 26 2
102 Lr 2 26 2610 26 10 14 2610 14 26 2
103 2 26 2610 26 10 14 26 10 14 261 2
104 2 26 2610 26 10 14 2610 14 262 2
105 2 26 2610 26 10 14 26 10 14 263 2
106 2 26 2610 26 10 14 2610 14 264 2
107 2 26 2610 26 10 14 26 10 14 265 2
108 2 26 2610 26 10 14 26 10 14 266 2
109 2 26 2610 26 10 14 2610 14 267 2
« _ _
|
2.
(i)
22
15?25 2p®3s*3p°®4s” 3d?
3d 4s 3s 3p
1s°25° 2p®3s* 3p® 3d°4<°
25
15?25 2p® 35> 3p°® 3d°4<°
3d 5 5 3d
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ds +2 S

Cu Ag Au +2 +1 +3 (Ru) (0s)
+8
5.5 4
©))
5.5 4
B B B B B B B
Sc Ti v Cr Mn Fe Co Ni Cu Zn
+1
+2 +2 +2 +2 +2 +2 +2
+3 +3 +3 +3 +3 +3 +3
+4 +4 +4
+5
+6 +6
+7
(
) 2.0 ( Si )
2.0 5.10
5.10
T
6.1 7.1
( 5.11) 2
5.10
[22] 175
5.11 (nm)
[7] 3-121 126 ( n nm)

5.3



5.3.1

1.
2.

(
( 5.4

8

)

2s22p5  3s23p°t

(D9 17
(2)18

@

1927

1s

NaCl

8

5.4

K Na )

Nat CI-

Fe3*(3s23p83d°®) Cu?*(3s23p®3d?)

Cu*(3s?3p®3d1%) Zn?*(3s23pb3di?)

(W.Heitler)

1s
1s

( CI- I

(F-London)

1s

)

1s

1s



H H CI
Cl H CI 2 1 1
() NH, 1 3
3 3 )
He
)
i
+
\:j_,/
e
Els 1z EEfiEsTEE
( 5.12) (
) (
)
S p d
HCI
1s 3p, ( 5.13) (©)
(d) ©)
(d) @ ()
(@ () (a)
S pX
(a) (k)
(EJE id)
B 13 <Hp, U ( BFSWIHNESE ST TEE
S p
o i
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5.3.2
1.
€y
( )
@
€))
208.15K  101.325kPa ( )
D
H-CI(g) - H(g)+CI(g) D(H-CI) 432kJ. mol-!
E
E(H-CI) D(H-CI) 432kJ. mol-!
2 0 H
2
H,0(g) - H(g)+0H(g) D, 498kJ- mol-!
OH(g) - H(g)+0(g) D, 428kJ- mol-!
0 H EQO H) w 463k3- mol-1
5.6298K (kJ- mol-1)

298.15K  101.325kPa



H H 435 C H 413 N N 159 F F 158
H N 391 c C 347 N 0 222 F CI 253
H P 567 C N 293 N CI 200 Cl Cl 242
H CI 431 C 0 351 0 H 463 Cl Br 218
H Br 366 C S 255 0 0 143 Br Br 193
H 1 298 C CI 351 0 F 212 | Cl 208
C Br 293
C 1 234 S H 339 | Br 175
Si Si 226 S S 268 | I 151
Si 0 368
C C 598 N= N946
C 0 803 C= (820
0 O 498 C= 01076
C S 477
N N 418
23 250
5.6
5.1 A He (298.15K)

H,(9)+Cl,(g) 2HCI(9)
MD+@2) 3)
=

1)
PH (14201 (g)

b

A HP (298.15K) A HI(298.15K)+A HY (298.15K)

{E(H H)+E(CI CD}+2{ E(H CD}
{(435 242)-2x 431}kJ- mol-!
-185kJ- mol-!

A HP (298.15K) 2x (-92.31kJ- mol-l) -184.62kJ- mol-!

(

)
AH (298.15K)= S E -3 E (5.8)

A H® (298.15K)



Es 17 HBETEE

tq

tq

q 1
5.7
5.7
3. ¢c. m

HF 6.07
HCl 3.60
HBr 2.74
HI 1.47
co 0.37
N, 0
H, 0
HCN 9.94
H,0 6.17
S0, 5.44
HpS 3.24
cs, 0
co, 0
NH3 4.90
BF4 0

CHCI 3 37
CHy 0
ccly, 0

[31 9-6

H,

= O



u
5.7
CH ) v H,0
( )
3.
13 V”
( 5.7
( CHy )
(DHYCI,
6s2 1 2
HaCl,
2
HaCl,
HaCl,
68 6p “ ”
[ 5.18(a)]
5.18 sp Sp
1 s 1
sp [ 5.18(b)] 1
o001
2 2P
6s ( ) 1 op
PP
P Prop
ECOO s T
) =ik spirefh
2 sp 2 3p
HaCl,
Q)FF, [ 5.19(a)]
® 2s22pt
2p 3 B L
120° [ 5.19(b)] 1 sp? %S

HF  HI

O H
CH,



P
i =p? splzp?
. O

: 4,
@ sipl 51:'2;]1‘&"{']6
5.19 BF, sp?
3  sp? 1 F 2p
BF;
(3)CH, [ 5.20(a)]
© 2s22p? 1 2s
2p 4 C 1 2s 3
p 4  spd C 109°
18°[ 5.20(b)] 1 spd }s 3
: P 4 4P
4  spd 1 1s
CH,
P PP
{Eﬂﬁ =pd spispispld
& BE XD
=2p? spiasdf,
5.20 CH, sp?
sp sp? sps ( )
( 180°  120° 109° 28*%)
S p
NH;  H,0
(4)NH; H,0
( 5.21) (N) ©
N 2s%2p? 3 p 3
p 1 H 1s NH, HNH
90° 107° 0 2s22p*
p 2 p 1 H 1s
H,0 HOH
90° 104° 40°
5.21 NH,4 H,0
NH, N H,0 0
4 spd 4 HNH
HOH 109° 28" NH,3 1 spd



1
S S ( Z)
1
S J—
« P
3
( Z) p
90°  NH; H,0
p 109° 28" 90°
107° 104° 40" H,0 p
NH;
NH H,0
sp® CH, sp?
S p
5.8
5.8
sp sp? sp® sp’( )
1 s 1 pl s 2 p1l s 3 p 1 s 3 p
2 3 4 4
o 180 ° 120° 109° 28° 90° 6 109° 28’
) v
BeCl,,HgCl, BF,,BCl, CH,,SiCl, NH, ,PH, H,0,H,S
Be A, B( A) C,Si(C A) N, A 0,5 A
Hg(_ B) ’ ’ ’
€y
©)) [ 5.18(b)] S p
5.3.3



[ 5.22(b)]

[ 5.22(c)]
5.22(d)]
5.22
(VanderWaals)
H,0
5.9
5.9 (kJ- mol-1)
H, 0 0 0.17 0.17
Ar 0 0 8.48 8.48
Xe 0 0 18.40 18.40
co 0.003 0.008 8.79 8.79
HCI 3.34 1.1003 16.72 21.05
HBr 1.09 0.71 28.42 30.22
HI 0.58 0.295 60.47 61.36
NH3 13.28 1.55 14.72 29.55
H,0 36.32 1.92 8.98 47.22
[24] 136
( 0.2 50kJ- mol-1)
100 450kJ- mol-1) 1 2
2.

X ( FON )




X H Y
HF Hy,0 NH,

F H O H N H
(o, C,;D] [EHS-E—CHE]

HF
F
Fay T T
. H
) K F/]-[ o ¢
3.
(¢))
( )
6.1 5.10
( )
5.10
g- mol? T T

CH,4( ) 16.04 -182.0 -164
CgHyg( ) 114.23 -56.8 125.7
CygHag( ) 184.37 -5.5 235.4

C1ghaa( ) 226.45 18.1 287

[3] 3 271 501
( ) ( )
(CCI4) (C11H24)
154g- mol-!  156g- mol-!

76.5 195 (Rn)

222g- mol-1 ccl, ccl, (-23 )



HI

€

20
(
)
HCI
H,0
(
( 6.3 )

-85  -57
)
NaOH K,S0,
(-0H)
)

36 )

17

HF

(HF HCI HBr



5.4

5.23

5.4.1

101.325kPa

( )

( 1

6(
298.15K
( ror..)
|Z+' Z-l
e 5-9)
5.11 (5.9)
( 5.12)
(  5.13)

6.3

5.23

5.23)



5.11 nm
Li+ BeZ+ B3+ C4+ N5+
0.068 0.044 0.023 0.016 0.013
N3— O2— B Nat M92+ AI3+ Si4+ P5+
0.171 0.132 0.133 0.097 0.066 0.051 0.042  0.035
s2- cI- Kt ca?t  sc®  Tit Vo
0.184 0.181 0.133 0.099 0.073 0.068  0.059
crb* Mn’*
0.044  0.046
se?” Br- Rb* sret y3 MoS*
0.191 0.196 0.148 0.112 0.0893 0.062
I cs* Ba®*  La% we*
__ 0.221 0.220 0.167 0.135 0.1032 0.062
8 2
Mt Fe?t co?t Ni%t ot ot % et et As™ Ged
0.080 0.074 0.072 0.072 0.072 0.096 0.074 0.062 0.053  0.046 0.0
Cr3+ Fe3+ Co3+
0.063 0.064 0.063
Ag* cd?t It sttt spot sn?
0.126 0.097 0.081 0.071  0.062 0.0
At At Hg?t Tttt et BIYT Tt Pb2
. \/ 0.085 , 0.137  0.110 o.\o& 0.084 0.074 0.147 o_%
9 17 18 18+
[3] 12-1 ] nm
5.12
MgO Ca0 Sr0 BaO
(r+r_)n/m 0.198 0.231 0.244 0.266
/ 2852 2614 2430 1918
55 6.5 4.5 3.8 3.3
5.13
NaF Ca0
(rytro\nm 0.23 0.231
Iz, z_| 1 4
/ 993 2614
3.2 4.5



(SiC)

(GaAs) (Si0,)
sp® 4  spd 4
4 4
( 7.1) SiC GaAs
(5i0,)
5.24 1 1 2
SiC Sio,
5.24
5.25
3.
(
)
( ) CO,
5.25 Co,
Co, o, 1
12
400
(CO,) (Si0,) C Si
1610
4.
( )

12



5.4.2

5.26

5.27

sp?
120°

0.335nm

6.1

2p

0.335nm

5.26

( Na*

3
5.27

0.142nm

Ca2+ )

sp?-sp?

sp?

(BN)



[ 5.28) M ]

5.28(b) (c)
5.29

5.28

5.29

5.14



(-NH,)

20

( OH)

il HE sl =
Fe 18 gk [EHH,1C17]
) A R L [R—11|H2]+I21'
F CHy
J CHy
g a3 it [E-¥H]*C1™
b
CHg
TR [-¥-cHg I*C1-
CHg
FHE & HmERE E— CO0Ha
WlsBes | B0 —S0Ma
T AR A B— 50 Ha
BiARAEE, | B0 PO,
=& = ¥Eal & Al
At SERee | B— WM — CHLH, — CO0H
CHy
P AL R—IIT"'-CHE—EEIEI‘
CHy
FEFE | RO K-04CH, ~CH, 0%,
CH,OH
EmEEE F—CO0CH, & — CHaOH
CH,OH
* RAFREE ( 2R ENTETE) .
( )
=0
(-0H) (" ~m) (-S05H)
(
8 12
| |
[-c—o—c]

5.14
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13

14

R—<Z»S0;Na
)

RSO,Na(R
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nst 2 (n—l)d1 8ng? (n—l)dlonsl 2 nsznp1 6 (n-2)f1 14ng2

( O p O ( CH) p=0

sp sp? sp? sp?
(  HoCly) ( BF)
(. CHy sp? (
( NH) * Vv ( H0)



H FOHNH

< <
0

Fe

co,

©

NaCl

5.4.2

n

ds

N < 10O O~

s p d f

10.
11.

NF4

BF,

12.



13

@ e

@
€))
€
14.
(DHF  HCl

(3)Br; F
15.

(2)SiH,

16.
17.

18.

19. Co, )

20.
21.

1. (
D) n=2
@p

®3)
2. (
(@) +2

(a)s
©))

(b)d  (c)ds

(a)HgCl, (b)CH,COOH  (C)CH,CH,OCH,CH,

H+

CH,

(d)f

(d)Si0,*  (e)CHCI*  (F)CS,

€)

Cl-

ccl,

1s22s22p%3s23p53d10

(e)p

(a)BeCl, (b)PH, (C)H,S (d)SicCl,

(4)

(a)co, (b)NH; (C)H,S (d)HBr

(e)SiF, (F)CHCI; (g)CHOCH,

®)

sp®



()HCl  (b)HF  (C)CH, (d)HCOOH (e)H,B0,
3.
€))

16
19
42
48

@) o o} T

(2)PH;  (b) ©) (dsSi10, (N,

4. ( )
€y S p

@) 6 3d 2 4s

(3)3d 4s 1

5

(DOC1 (2)Pb (3)Mn  (4)Cr (B)Hg
6. 3s2 2s?22p® 3d104s?  3d4s! 4dl5s?

7.
(M2 (2)Cd2*  (3)Fe?* (4)Ag (5)Ser  (B)Cu2t (7)Ti%

8.
(DNaOH  (2Na,S  (3)CaCl, (4)Na,S0, (5)MgO

*9.
CH,(9)+20,(9)=C0,(g)+2H,0(9)
298.15K H9 (298.15K)
10.
( )
(1)SiH, (2H,S (3)BCl, (4)BeCl, (5)PH,
11. BBr, NCI,
12. (
)
(DH, (2)SiH, (3)CH,CO0H (4)CCl, (5)HCHO
13. (CH,0CH,) 78.5
-23
14.
0

(BB (CHOH)  (2) P (CH, ¢ CH,)
(3  (CHCL)  (4)  (CH,CH,0CH,CH)



(5)  (HCHO) (&)  (CHY
15.

(DNaF MgO

(2)Ba0 Ca0

(3)Sic SicCl,

(4)NH; PH,4

16.

(1)SiF, SiCl, SiBr, Sil,
(2)pl; PCI; PF; PBrg

17.

(DKCI  (2)SiC  (3)HI (4)Bao
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€

®

4)

6.1

109 87

6.1.1

6.1 6.2 6.3

6.1
3410
-38.842
28.40
¢ 6.2)

6.3
( 9.0)



5g- cm3

(1857 )

100

(

6.1.2

6.4

4.5g-cm-3

ds

s (
5g- cm3
p
( 5.11)
d
S
d
P
p

60

1/3
1/7



99.5

1K
0.4
C )
6.2
6.2.1
1.
Ih T e — — — — _ —
= “SREE &
’& mE- - ——— - IIE iv
: i
5 i £
T i | 5
5 TEMETAR TS
(@) S
S ( Li,0 BeO MgO)
( Na,0, Bao0,) 0z

0 0




( KO, BaO, )

4KO, (5)+2H,0(g) ==30,(g)+4KOH(S)

KOH(s)+C0,(g) ==KHCO0,(s)

p S
d ( ) ds
4
(Crz05)
4
5 6
«c 4 )
Cu0 ( 5
) c 6 )
¢
S H,0
( )
P ( ) 4 d ( )
S
[ ) (H/Hy) ) (H'/Hy)
1 56 d ds
( )
( ) ( H™ )
Cl-
( )
( )

3PL+4HNO,+18HCT ==3H, [PC1]+4NO(g)+3H,0
Au+HNO,+4HCI ==H[AuCI,]+NO(g)+2H,0



p d ds

2A1+2NaOH+2H,0==2NaAl0,+3H,(g)
Sn+2NaOH==Na,Sn0,+H,(g)

NaOH (
AIO; [AL(OH),]° )
5 6
( )
10 Ir 90 Pt
15
( )
2.
( )
( )
Go K®
1mol0, T
Q) (2.9)
G® (T)= H® (29.15K)-T S® (29.15K)
6° (M

4 2
SAI()0,(@) = 5A10:(S)
G® (T)= (-1117+0.208T)kJ- mol-1



2Fe(s)+0,(g) ==2Fe0(s)
G® (T)= (-533+0.145T)kJ- mol-1

([ S° (298.15K)] Ge (T)
.
G® (T) 408K Ge (T)
(
) ( )
GO (T)
3/2

2A1(s)+3Fe0(s) ==Al,0;(s)+3Fe(s)
G® (T)= (-876+0.095T)kJ- mol-!
G® (T)
873K

Ca Mg Al Ti Si Mn Na Cr Zn Fe H, C Co Ni Cu

6.1 G® (T)

6.1 G® (T)



DGY(T) » DH%(29815K)"

TDS?(298.15K)
DHY(29815K) DS (298.15K)
kJ mol* kJ mol %t Kt
%AI +0, =§AI203 -1117 0.208
2Ca+0,=2Ca0 -1270 0.311
2C( )+0,=2Co -221 -0.179
C( )+0,=C0, -394 -0.003
2C0+0,72C0, -566 0.173
2C0+0,=2C00 -478 0.175
gCr +0,= %Cr203 -760 0.183
4Cu+0,=2Cu 0 -337 0.151
2Fe+0,=2Fe0 -533 0.145
6Fe0+0,=2Fe40, -639 0.257
4Fe30,4+0,76Fe 05 -472 0.266
2H,+0,=2H,0(9) -484 0.089
20ig+0,72Mg0 -1203 0.216
2Mn+0,=2Mn0 -770 0.150
4Na+0,=2Na 0 -828 0.260
2Ni+0,=2Ni 0 -479 0.189
Si+0,=Si0,( ) -911 0.182
Ti+02=Ti02 -945 0.186
2Zn+0,=2Zn0 -697 0.201
6.1 298.15K  p(0,)=101.325kPa Ti Na Mn Fe
Co Ni Ca C O, Ti0, Na,0 MnO FeO CoO NiO Ca0 CO
G® (298.15K) -890 -750 -725 -490 -426 -423 -1177
-274kJ- mol-1 298.15K
Ca Ti Na Mn Fe Co Ni C 873K
p(0,)=0.21x 10-3Pa
G= G°-8.314x 10-3kJ- mol-1. K-1x 298.15Kx In{p(02)/p°®}
G
6.1 G8 (M T
6.5
6.5 Ge (T)-T G® (T)
6.5
(873K) 873K



6.5

H,S0,

520

570

6.2.2

Fe
Fe,0

12

FeO

2C+0,=2C0

Pe+Fe,0, ~28- 4Fe0

6% (T)

W0,

Fe;0,
570

MoOs

6.5
FeOl

HNO,



3.2 Agt  Cu?* Fe3*
[Ag(NHy), 1" [Cu(NH;), 1% [Fe(CN)e1*

( ) [Ag(NH3) IC1 [Cu(NH;),]1S0,
Ks[Fe(CN)¢] H,[PtCl] H[AuCl,]
1.
(¢H) [Cu(NH;),1S0, H,[PtCl4] Cu* pt*
NH; CI-
[Cu(NHz),]2*S05"  H; [Pt Cl]*
NH, N Cl
2 4 6
@)
(ethylenediamine en)H,NCH,CH,NH, 2
(N ) Cu?*
« )
HpCoWp o HCH,
]-[EI:—H'J-[Z/'I:u “\.HH,-CH,
(ethylenediaminetetraaceticacid edta)

4 ( ) 2

_%}“c—mp\ ) p C-CHE

=i F-CH, ~CH, -¥ . -

00T, e C-CHp5
( )
[Cu(NH3), 1%
[Cu(NH;),]?*+2en==[Cu(en),]?*+4NH,
[Cu(en),1?* [Cu(NH3),1%* en NH, Cu?*

co
co
43 p(Co,) 101.325kPa  CO

Ni(CO),



Ni+4CO==Ni (C0),
Ni (C0), 50 Ni  CO

®)

( )
@ ( )

( )
V- Cr Mn Fe Co Ni Cu Zn

Mo Tc Ru Rh Pd Ag Cd
W Re Os Ir Pt Au Hg

d ds
Fe3* Fe2 Cu?* Ag" Aud Zn?* Hg?*
( ) (n-1)d ns np nd
CH: - :HH; ]-|]:|]-[ ::F::'

H508 (5,08) B

:_'S_-'CH:' ::I::'
(b)
[Ag(NH3).1*
Sp
Ag*
44 5. 5
RB®GO® O 000
44 55  bHp NH,
1 4 4
Ag* 2 (
) [Ag(NH3),1* Ag* Sp
NH
[Ag(NH3),1* Ag"
1d B2 s
[agtmz), 1+ DA .L@_ [llele
spieit
NH, N
(n-1)d
ns np nd ( 6.2)



( ) cl- s?
OH-
S0F  Ac (
)
( ) "
(
)
) )
Eofu g | ibahis | TaEid * @
2 =p . 4d rS—S——'I ap
oy e 00, 1 A BB E) @%@JOO
4 ot 3d A _ 4
s (2o ) I @A D :@@_@@j
s =5’
dep? % 3d _4s ___ fp
Lo [§i (CH), 1% @@@@I—@ D @'@JO
F mPi T amp?
B | a%spd ] Mo 45 T
; o EOORE ® OO
-:lzspE
SR
3p7d? . 3a_ A5 _dp_ _ _ 4d_
AL TR OOOOO® B®OH® B®OCO
spsdz
[Ag(NH5),1Cl )
[Cu(en),]1S0, ( ) ()
H[AuCI,] ()
Ks[Fe(CN)s1 )
« )

[27]



K[PECI5(CH,)] -C ) C)

[CoCI(NH3)3(H,0),]1Cl, ' ' ¢ )
Co,(CO)q
3.
( 3.3
6.2.1)
@
[Cu(H,0),]**
[Co(H,0)6]% d
[Cu(NHz), 1%
[Co(NO,)e]3 [Co(NH3)6]%*
d
[Ag(NH3),1*
Cu2+
[Cu(NH3), 1% [Cu(NHz), 1%
Cu2+

CuZ+4NH; == [Cu(NH,),]%*

( )
Fe3*  SCN- [Fe(SCN)]**
Fe3*+SCN-==[Fe(SCN)]?*
Fe3*
Fe3*
[Fe(CN)¢1* Fe,[Fe(CN)415( )
K,[Fe(CN)4] Fe3*
4Fe3*+3[Fe(CN)]*-Fe=—=[Fe,(CN)¢15(S)
Ni2+
Ni2*
@ ( 43 )
(
) (
)
Cuso,
(K4P,07) [Cu(P,0,),1°

[Cu(P,0,),]% ==Cu?*+2P,07
Cu?t ( ) Cu



edta( )

sSp
edta Pb2*
edta

(Pu)
6.3
6.3.1

( )
(
)

1.

( ) (

)
6.6(b)

6.6(c)



()R (b) B ElEE (e)iB|FREIE
Ele. 6 EEEFF5HEEERE oM

2.
Mg,Pb
CuZn d
(CaC,) (2300 )
(Si0) (B,0)
( )
Sic B,C ( 2827 2350 ) ( )
d
WC FesC
d
(0.077nm)
d
( )
d

6.3 d




B B B
Tic \VC V.C CryC, Cr,Cs Cr23C6 Mn,C Fes
*/
0. 2.942 | 2.054 1.324 1.310 1.618 0.843
- m
/ 3150 | 2810 1895 1730 1550 1520 1650
zrc NbC | NbC MoC Mo,C
/
) | 2-868 | 1.923 | 2.082 1.470
(102N - m?
/ 3530 | 3480 2700 2410
HFC Tac | Tagl we W.C
/
) ,| 2-857 | 1.568 | 1.681 1.746 2.422
(102N - md
/ 3890 | 3880 | 3400 2720 2730
TiN VN NbN CrN Mo,N Fe,N Fe,
/
" | 1-955 | 1.491 | 1.369 1.072 0.618
(10°°N- m™)
/ 3205 | 2360 | 2300 1500 560 67
TiB2 VB, NbB Cr,B Mo,B FeB Fel
/
0. 3.236 | 2.746 | 2.153 1.324 2.452 1.765 1.961 1.373
- m
/ 2980 | 2400 | 2280 1890 2140 1540 13¢
[26] 205 259 kg - mm? 2
*
7 8 9 10
/(107N m?)0.816  1.314 1.765 6.865
TiCy 5 TiC
d
6.3 d
6.3.2
1.
S



@
( )
@)
")
4.9 1.2 1.8
)
600
2.
d

1.738g- cm=3

0.3

0.9

4.549- cm3



Co(Co
TiC

8 Co

6.1

(13.546g- cm3?)

13

12

183

300
( )
12
12
YG6
") YT14
p
0 200
100
(Wood)
12

W18Cr4Vv

18 4 1

600
94 WC 6
78 WC 14

1000 1100

4 7

p

50 25
71
37 63

W6Mo5CrévV2



80 15

22.8

@

€)

3.927x 103
13.81K
0.0001K

903.89K

(O 300 )

2000 2000

1K
60 40

-12.3

99.90

2x 10-°

0 100

(O 1450 )
)

240

99.5

82 14

77.2

0.001K

(200 1100
(800



©)) 6.4 S

)
)
BaCO;==Ba0+C0,
Ba0
Ba0+C=—=Ba+C0
2Ba0+S1==2Ba+Si0,
5.

TC

)

600km- h-1)




(H-K.Onnes) 1911

4.15K ( )
T. He I 30
1973
Nb,Ge T. 23.2K
( - - =) T, 125K ( )
6.4
( )
6.4.1
1.
( FesC )
BaCl,
1100 1350 NaCl 850

1100



1173 1203K

CH,==2H,+[C]
CH,+20,==C0,+2H,0
CO,+[C]==2C0
CH,+H,0=C0+3H,
[C]

CO,+[C]==2C0
(2.11)  (2.10)
68 =-RTInK®
<o = {PT(CO) /P
{p®(CO,)/ p

2.5 T=1173K  K®= 32
{p*(CO) / p}?
{p*(CO,) /p%}

{p(CO)/p“}*

co co
? {p(CO,)/ p%

( )

( Q K%)




{p(CO)/p}*

Ke
{p(CO,) / % ¢ 0K

( Fe)N Fe,N )
( 753  973K)

2
NH,== = Hy+[N]

%FE+[N]E=ENH3
{p*(NH3) / p%
{p%(H,)/ p}¥?
( FeB FeB,)
(Na,B,0,- 10H,0) (8,0)

1173K

Na,B,0,+2SiC==Na,0- 2Si0,+CO+4[B]

AICI, CrCl,

SiCl,

Al Cr Si
2.
(ChemicalVaporDeposition CVD)
« )
TiC TiCl,
( 900 1200 )
( )

] Hy
TiCl,+CH, = Tic+4HCI
CH,==[C]+2H,
TiCl,+2Fe+[C]==TiC+2FeCl,



TiCl+2H,+[C]==TiC+4HCI

TiN
] 1 i
TiCl+2Hyt S N==TiN  4HCI

TiC
TiN
TiN TiC
3.
4.4
( )
( ) ( )
@
( 135 150
) ( )
( ) (
0.5 1.6p m)
3Fe+NaNO,+5NaOH==3Na,Fe0,+NH;+H,0
( )
6Na,Fe0,+NaN0,+5H,0==23Na,Fe,0,+NH;+7NaOH
( )

Na,Fe0,+Na,Fe,0,+2H,0=—=Fe;0,+4NaOH



(85 100 ) (

)
( 60 80 )
)
= +H*
H,P0, ==HPO2 +H*
pH
( )
H5PO,
Mn2+t Fe2t )
Fe+2H;P0,=—=Fe(H,P0,),+H,(9)
Fe+Fe(H,P0,),==2FeHPO,+H,(g)
Fe+2FeHPO,=—=Fe;(P0,),+H,(9)
2Fe+Me(H,P0,),=—Fe,Me(P0,),*+2H,(9)
@65 98 )
(0 70 ) ( 3 )
4.
( 4.3 )

6.4.2



@

)

Si0,)

@

( 4.4 )

Ti+4HNO,+6HF==H, [TiF,]+4NO0,+4H,0

Cu+2FeCl;==CuCl,+2FeCl,



)

6.4

6.4

15

18

CH-CH2 n



6.5

5g- cm3 800
1660

( 200 )

+3 +4 42
6.5 +3

6.5 C )



M3+ M3+ o
g- cm nm nm 4f I (sa)
Sc 21 2.989 1541 2836 0.1606 +3 0.081 f0
Y 39 4.469 1552 3338 0.181 3 0.093 f0
la | 57 6.145 018 3464 0.1877 +3 0.106 f0
Ce 58 6.77 798 3443 0.1825 +3  +4 0.103 i
Pr 59 6.776 981 3520 0.1828 3, 4 0.101 i
Nd 60 7.008 1021 3074 0.1821 3 0.100 ?
Pm 61 7.264 1042 3000 0.1810 0.098 i
Sm 62 7.520 1074 1794 0.1802 2, 3 0.096 o
Eu 63 5.244 822 1527 0.2042 2, 3 0.095 9
6d 64 7.901 | 1313+ 3273 0.1802 +3 0.094 f7
Th 65 8.230 1356 3230 0.1782 +3,+4 0.092 ?
Dy 66 8.551 1412 2567 0.1773 +3 0.091 i
Ho 67 8.795 1470 2700 0.1766 3 0.089 10
Er 68 9.066 1529 2868 0.1567 3 0.088 il
™ 69 | 982 1545 1947 0.1746 3 0.087 2
Yo | 70 | 16.968(8) 819 1196 |  0.1940 2, 3 0.086 £13
Lu 71 9.841 1663 3402 0.1734 3 0.085 £
[31 4 3 39 [71 3 121 126
4f f La3*(f0)
Lud*+(f14) 4f 1 6 7 8 13
4f f
6.5 Lad*  Gd3*
Gd3*  Ludt
( )
0.2 0.3

40 50



R o o
I R
H

6.1.2

800

ds

4f

(

4f

2000

1.3.3

)



= O O
NN

@ s
( Na,0, Bao,) ( KO, Bao,)
&) s ( ) 4 d (
) 5 6 ( )

1. ( Fed Cu** Ag* Zn?* )
( )

2 4 6 [Ag(NH,),]CI
Ag* NH, N 2

( CI-
F~ NH; 1 ) ( en edta

[Cu(en),1*
2. ( )

[Ag(NH;),1*  Ag"  sp NH; N

[Ag(NH3),1CI )
4. Cuzt
NH, [Cu(NH?,)4]2+ Fe3* [Fe(CN)G]“‘

Fe,[Fe(CN)¢]1;

.3
3.1

= o O



WC Fe,N
FeB

2.d d v Vi

= O O b~
o

HyPO, HNOy) ( FeCly) ( F) ( NaOH)

2. M &) ® 4)
2 3

3. s ds (1) ) 3)

873K



9. K,P0,
10.d

11. @ @)
*(3)

12.

13.
14.

15.
16.

17.
18.
19.

20.

*21.
*22.

L« o )
®
@
©

4)

2. ( )
@
(@)Ti0, (b)TiCl, ()TiC (d)Ti(NOy),

@) _
(@p (b)d ds (c)s P (d)s

€)) [PCI;(CH)T -




@+3 (0)+4 (0)+2 (d+5

4) _
@ (b) © (d)
*(®) _

@ (b)

©) (d)

3

o

@____

(©)

4)

®) _

o) @
@) @)
) )
5.

6. 873K G (873K)
0,

(1)4Cu+0,=2Cu,0

(2)2Mn+0,=2Mn0

(3)2Fe+0,=2Fe0

(Fe0 Fey.9470 )

... @ ) ®

8.
100g
37.0 )
8.0dm3

Cu Mn

co,

Fe

KOH



(DICu(NH),ICL, (DK, [PECle]
(GINag[Ag(S,05),1  (AK;[Fe(CN)6]

10.

(1 [Co(NHz)e]CI, (2K [Co(SCN),]
(3)Na,[SiFq] (4)K,[Zn(OH),]
*(5) [CoCI(NHz)s]Cl,  *(6) [PECI,(NH;),]
11. *

(DNas[AY(S,0),1  (Ks[Cu(P,0,),]
(3)Na,[Fe(edta)]  (4)Ni(CO),
(5)MO(CO),

*12. Ke

(1)Fe,C(s)+C0O,(g)=3Fe(s) 2C0(9)
(2)Fe;C(s)+H,0(9)=3Fe(s)+C0(9)+H,(9)
(3)Fe;C(s)+2H,(9)=3Fe(s)+CH,(9)

13.

TiCl,(g)+2H,(g)+C(s)==TiC(s)+4HCI1(g)

H(298.15K)
*14 . 910

3Fe(s)+2C0(g) ==Fe,;C(s)+C0,(9)
K® =1.11x 10*
co, CO 80 20
101.325kPa

15.
16.
17.

*18.

TiC
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)

( )
(
)
( )
( )
N, Ar He ( 7.3.2)
2.
7.2 7.3

NaCl KCl BaCl,
PCI, cCl, SiCl,
AICl, FeCl, CrCl, znCl,

NaCl KCI BaCl,

CaF,
NaCl KBr
AICl; CrCl, SiCl,
( 6.4 ) SiCl, SiHCI,(
) Wi, ( )

( 250 650 )
Wi, Wi,



Na K Ba

7.2
1A
HCI
-114.8 11A
Licl | BeClp
605 405
Nacl | MoCly
801 714 1118 1VB VB VIB VIIB VI 1B 11B
-25 1150 306 620
770 782 939 440d -28 824 650 672 724 1001 430 283
Rocl | SrCly | YClg | zrCl, | NbClg  MoClg RuCly | RhCl3 | PdCl, | agcl | CdCl,
718 875 721 437* | 204.7 194 >500d| 475d 500d 455 568
275 254d 276
WClg Auct | HaLl,
645 963 860 319s 216 248 550d 763d 370d 170d 400s
[31 4-41 119
d s FeCl, RhCl; 0sCl; BiClg

7.3



1A
HCI
1
-84.9 11A
, | e BeCl,
1342 520
NaCl MgCl,
3
1413 1412 111B 1VB VB VIB VIIB VI 1B 11B
kel | cach, | sccug [ Tici, | ver,  crcl;  wncl, FeCly | coCl, | Nicl, | cucl, | zncl,
933d
4
Cucl
1500s >1600 825s 136.4 | 148.5 1300s 1190 315d 1049 973s 1490 732
5
1390 1250 1507 331s 254 268 800s 1550 960
5 346.7 265s
WClg AucCl
1290 1560 >1000 319s 242 275.6 500 289.5d| 302
[3] 4-41 119
*s d LiCl  ScCl,
( Mg Al ) FeCl,
AICL, MgCl, CdCl, ( )
7.2
IA ( Licl )
5.4 A
( BeCl, )
p
FeCl, FeCl; SnCl, SnCl,
[ 7.2(@)]
[ 7.2(b)]

[ 7-2(0)]
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7.3
( 7.3)
@
@)
©)) 8 ( ) (
Na* Mg2*) 9 17 ( Cr3 Mn?* Fe?t Fed)
18 ( Cut Zn?)
( )
@
Si%t AIR* Mg Nat F- 0%
@)
F- ClI- Br- 1I- 0% &%
€) 18 9 17
K* Ag" Ca?* Hg?
( 18 +1 +2 )
(
)
(
)
3
7.4 Na* Mg2* AI%* Si%
cl-
NaCl

MgCl, AICI, sicl,



7.4 3

NaCl MgCI2 A|C|3 SiC|4
Na* Mg2* A si%
r./nm 0.095 0.065 0.050 0.041
/ 801 714 190( ) -70
/ 1413 1412 177.8( ) 57.57
( )
p
cl- Sr2+  Ca?*
Mg2* Be?*
+2
BaCl,
MgCl, BeCl, ( BeCl,
) BeCl, MgCl, SrCl,
p
9 17 18
(
)
AgCl AgBr Agl
3.
Si0,( ) ALOs( )
Fe,0;, Fe30,
7.5
( Si0,) 7.6

Na,0 Ba0O CaO MgO

5.25)

S0, N,05 CO, (

Si0,( ) (  5.24)

Cr,0, ALO, Fe,0; Ni0 TiO,



V,05 CrO; MoO; Mn,0, “ " “ "
1A
Hy0
1
0.000 1A
) Li,0 BeO
>1700 2530
NaZO MgO
12758
31 Nayo,
460d 2852 1B VB VB VIB VIIB VI 1B 11B
K07 ca0 Ti0y | Vo05 Cr03  Mn07  Fey03 [ cop NiO Cuo Zno
380 196 5.9 1565 1326
1 K0 or0; M0,  rep Cu,0
350d 2614 1840 690 2266 535d 1369 1795 1984 1235 1975
432
> | Rby0
400d 875 2410 | 2715 | 1520 795 25.5| 1125d 870 230d | >1500
CSZOZ Ba0 L3.203 Hf02 T3.205 WO3 R9207 0504 | r02 Pt0 AU203 Hgo
400 1918 500d
6| cs,0 | Bao, Hg,0
400d 450 2307 2758 1872 1473 297 40.6 1100d 550d 160d 100d
[31 4-41 119
7.6
BaO | Sro | ca0 Mgo Ti0, | Fey03 | Si0y| Aly03 | Cry03
3.3] 3.8 4.5| 5.5-6.5| 5.5-6 5-6 6-7 7-9 9
7.2 7.5
Mgo MgCl, Al,0; AICl; Fe,0; FeCly
Cu0 CuCl,
7.1.2
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10S- m1
10-11S. !
1011 10S- m!
p ( CI, 0))
( Ne Ar) p
( 6.7)
6.1
( NaCl KCI Ca0
( Co, CCly)
- () _
GaAs InSb GaP Zn0 CdS ZnSe SnO, PbS
PbSe
GeGe — GaAs — ZnSe - CuBr
C-)C-)y C-)C-)
8 (
) ( Ge Si
)
(
7.3 )
99.999999%(8 “ 97 )
( )
Vv
7.3
2.
Na,

3s

GeGe GaAs ZnSe CuBr
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3s 3s
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) 2N, ImolINa
Na 3s
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7.5 ( )
(E)) 5-2eV (. 500kJ- mol-t)
( leV ) 1.12eV
0.67eV
4 spd

levV= 1.602x 10-19J lev

9.648x 104J-mol-1
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5eV
2 3eV ( )
( )
7.2
7.2.1
1.
jq
F2 02
j ) C )
) C ) G O
0.5 0.7g- dm3
Cl+21-=2C1-+1,
cl, I,
10; 1,

5CI,+1,+6H,0==10C1-+210; +12H*
j 9(C1,/C1-)=1.358V | 9(10;/1,)=1.195V Cl,

I,



)

C H, Si
HE  HNO,

3Si+18HF+4HNO,==3H, [SiF.]+4N0(g)+8H,0
j 9(SIFZ /Si)=-1.24V
Si+2NaOH+H,0==Na,Si05+2H,(g) j ¥(Si0% /Si)=-1.73V
( )

S+2HNO5( ) ==H,50,+2N0(Q)
C+2H,80,(  )==C0,(9)+250,(9) 2H,0
cl,

( )
Ha(6)+50,(0)__H,0(g)
[ H® (298.15K)=-241.8kJ- mol-1]

2Li+H, L 2L iH
Ca+H,—£_CaH,

2LiH+Ti0,==2LiOH+Ti
CaH,+2H,0==2H,(g)+Ca(0H),

(HC10)

20

215 CI2 1/3

Br,

I



0 -1+l
CL,+H,0==HCI+HCIO

() () () cl, Br, I,
jd
cL, 1,
¢ cl
) Cl, NaOH
0 -1 41
Cl,+2NaOH==NaCl+NaCl0+H,0
Ca0(s)+Cl,(g)=CaCl(0CI)(s)
(CIO- BrO- 10Y) x)
(X03)
3X0-==X03 +2X~ (X=CI,Br, 1)
X0~
10- BroO-
(BroO- ) Cl0- (
)
©) N,
( 7.3.2)
2.
KMnO, K,Cr,0, NaNO, H,0,
(€H) 3d4s2
+1 +7 +2 +4 46 +7
+7
KMNnO, MnO ,
KMnO, 200
2KMnO, () =2-K,Mn0, (s)+Mn0, (s)+0,(g)
KMnO,
2Mn0, (aq)+4H*(aq) ==4Mn0,(s)+30,(g)+2H,0(l)
KMnO, KMNnO,
KMnO,
KMNnO,
HCIO HCl 02



MnO; (aq)+8H+(aq)+5e==Mn2*(aq)+4H,0(1)
j 9(Mn0; /Mn?*)=1.507V
Mn0, (aq)+2H,0(1)+3e-==Mn0,(s)+40H"(aq)
j 9(Mn0; /Mn0,)=0.595V
MnO; (ag)+e-==Mn03% (aq) | “(MnO; /Mn02 )=0.558V

MnO S0F Fe?* H,0, Cl-
MnZ*( )
2Mn0 ; +5505 +6H* ==2Mn2*+5503" +3H,0
MnO S0% MnO,(
)
2Mn0; +3505™ +H,0=2Mn0,(s)+3S03 +20H"
MnO ( ) S0%
Mnog )
2MNn0; +S05 +20H-==2Mn03 +S03 +H,0
@) +6 ( Cr,0%
) Fe2t NO, SO03 H,S K,Cr,0,
Cr3* (
Fe?*)

Cr,0% +6Fe2 +14H" ==2Cr3*+6Fe**+7H,0

2Cr0% (ag)+2H*(ag) ==Cr,02" (aq)+H,0(1)

« ) « )
Ké = ced(Cr,02 )/c® /{ce9(Cr0% )/c® 2{cea(H*)/c® 2=1.2x 101

Cr,0% Cro%
K,Cr,0, H,S0,
Cr0;
K,Cr,0,4+H,50,( ) ==2Cr0,(s)+K,S0,+H,0
(Cr3")
+6 ( )
€)) +3

HNO, (aq)+H* (aq)+e-==NO(g)+H,0(l)
j 9(HNO,/N0)=0.983V
NO; (ag)+3H*(aq)+2e-==HN0,(aq)+H,0(1)



j 9(NO; /HNO,)=0.934V

K1
NO; NO
2NO; +21-+4H* ==2N0(g)+1,(s)+2H,0
KMnO, K,Cr,0, CI,
Cr,02 +3N0; +8H ==2Cr3*3N0 ; +4H,0
4) H,0, -1 -2 H,0,
H202 H202
I- 1,( I, H10;)  H,0,
H,0(  OH)
H,0,+21-+2H" == 1,+2H,0
H202
02
2Mno ; +5H,0,+6H* == 2Mn2*+50, (g)+8H,0
02 HZOZ
H,0  Mno; H,0, 0,
HZOZ
2H,0,(1N=2H,0(1)+0,(g)  H® (298.15K)=-195.7KJ- mol-L
( )
0,(9)+2H*(ag)+2e-==H,0,(aq) j *(0/H,0,)=0.695V
H,0,(aq)+2H* (ag)+2e"==2H,0(1) j % (H,0,/H,0)=1.776V
H,0, J 9 (H,0,/H,0) J 1(0,/H,0,)
H202 HZOZ
MnO, (Fe?* Mn?* Cr3* ) H,0,
H202
H202 HZOZ
3 30 H,0,
8- H,0,
H202 HZOZ
H202
H202 HZOZ
3 HO, 90
H202

71.2.2



( )
CO NO N,0
R(OH), X
R
H,B03
B(OH), La(0H)4
R
HNOj(HsNOs 2 ) HyPO, (HsPOs
1 )
Al1(OH),
AL(OH)5 © HzAIO5=HAIO,+H,0
( )( )( )
@
@) ( )
« )
1.7
7.7
Ih I ! IIIA ! IvA | Vi Ly ! VITA
Bt Hng
Liok | Be®H),  HB0 : Mo, | MO, . - ! _
|
(haREE) | (At | GEER | (EEEE : G N '
Fa0H | Me@H); :ﬁ.l(EIHJg| HiSilg | Hgfog | H§n4: HC104
W GER0 | W) | () | GRS | (PEBAD) | GBAV)I GREBED) | g
AR : CalOH), |Ga(|:l]'[)3 . Ge(DH)4i N :H25e|:|4: By |
W oGEED | chIEED | @i ; (Ff) | (PaEBE) | GEBEN GEED g
| mon | 5O, | In@0 | Sn(OH)y | KISBOHIG] | HTelgl HTo -
| 1
G | ciEeh | @i | G | GREH | G| chiEEn
ceop 0+ Ba@H), | TLOH), I Fb(OH), | | - -
| .
Gemh | GEmbh | GaEh | @) | | |
it




it o

S‘:EIII5 TiEIE 1.-’2IZ|5 Erl:l5 I'.'Inz,lilT
Se H, Ti (0H), HviD, HLr0, 0 Hir 0, HMni,
£k SRt ) &b {mEER PERE  EiSER [
151 [id) 5 i taERE TERE
Bt
H,Cro,( ) HMoO,( ) HWO,( )

HCIO HBrO HIO Vv
+3 N,O;  P,0, As,0;  Sb,0, Bi,0,
(b)

HCI0 HCI0, HCIO,  HCIO,
Mn(OH), Mn(OH);  Mn(OH), H,MnO, HMnO,
CrO Cr,03 Cr0Og
@)
ROH
R(OH),
I I
R: 0 H
(R-0 ) (O-H )
R 0 H RX*  H*
02- H* 02-
Rx* 02-
H R(OH),, Rx*
Rx* 02- H* 3

HPO OH 2 HO PO OH 2



5.4 Na*  Mg?*

0% Ht 02
NaOH  Mg(OH), Al
0% H* 0%
A1 (OH),
RX* +4  +7
Rx* 0%- H* HCIO,
As3* Sh3* B3t R3+
0%- H*
CI™ CI5* CcI¥* Cr RX*
0%- H* HCI10, HCIO; HCIO, HCIO
R ( )
R (= +3) ( S d )
R (+3 +7)
( p d ) R (+2 +4)
(p d ds ) Zn2*
Sn2*  Pbh2* AI®* Cr3* Sh3 Ti* Mn** Pb*
Rx*
RX*
R(OH), 0O-H
R ( )
NaOH CuOH
Rx* ( +1) [r(Na*)=0.097nm r(Cu*)=0.096nm]
Na* 8
Cu* 18 Cu* Na* ( CuOH
) CuOH O-H
2.
(€))
pH
) ( )

MgCL,+H,0==Ng(OH)CI+HCI

HCIO HBro HIO * " Rx+1 +1 +1



800 30

MgCl,+MgO+H,0=2Mg(OH)CI

ZnCl,
( FeCl; AICI; CrCly)
(
)
Fe3*+H,0==Fe(OH)2*+H*
Y (SnCl)
(SbCl) (BiClL,)
[Sn(OH)CI] (ShoCl)
(BioCl) ( )
SnCl,+H,0==Sn(OH)CI (s)+HCI
SbCl;+H,0==Sh0CI (s)+HCI
BiCl;+H,0==Bi0CI (s)+HCI
( Sn2*
SnCl, )
®

BCl; SiCl, PClg
BCI;(1)+3H,0==H;B0;(aq)+3HCI (aq)
SiCl,(1)+3H,0==H,Si05(s)+4HCI(aq)
PCI;(s)+4H,0CH;P0,(aq)+5HCI (aq)

SiCl,
GeCl,(1)+4H,0==0Ge0,- 2H,0(s)+4HCI(aq)

GeCl, (GeCl,
) GeCl, GeO,

SbOCl  BiOCI S OH 2CI Bi OH 2CI



( ccl, SF, CF, )

CF,(9)+2H,0(g) ==C0,(g)+4HF(9)
G® (298.15K)=-151kJ- mol-!
SF¢(9)+3H,0(9) ==350;(9) +6HF(9)
68 (298.15K)=-302kJ- mol-1

CF, SFg
SFe( )
(SFs
-63.8 )
CF,
CCI;F CCI,F, CCIF,
(freon)
( ) ( F-12)
( F-22)
200nm
NO O3
03
3.
Si10,+Na,CO==Na;S10;+C0,(Q)
Na,0- mSi0, m 3 m o
(KZ =1.7x 10°10 ) (
) (
Si0Z  H,0 )

Si03 +H,0==H,Si0,+20H-

H3PO4 CuO



7.

2.3

¢y
)

®

7.8)
7.8

( NHCI

NaOH

Na,Si045+2C0,+2H,0=H,Si05(s)+2NaHCo,
NH,CI

Na,Si05+2NH,C1=H,Si05(s)+2NaC1+2NH; ()

CaCO;  Ca(HCO;),  H,CO;
Na,S0,  NaHSO,  H,S0,

CaCO; FeCO; NaNO; AgNO; CaSO,
[p(CO,)=101.325kPa]

NaOH)

Znso,



Li,CO3| Na,CO3 | BeCO5 | MgCOg | CaCO | Srcos | Baco,

/ 25 540 910 1289 1360
1100
NaHCOg | (NH4),CO5 | FeCOg | Ag,CO3 | ZmCOg | CdCO3 |  PbCO4
/ 270 58 282 170 350 360 300
(@)
Na,S0, Na,CO; Ca,(P0,), Ca(NO,),
(
)
Na,C0;=2-Na,0+C0,(g) ( )

TNaNO,—£ INaN0+0,(g)
4NaNO,=LINaO+dN0 (2)+0, () | .
9KC10, H%zzﬁcmaz(g) (AT B A R )

IEMn0, =2 K MHn0Hn0 40, (2)

2.
G Ke
G= H-T S=-RTIn(K® /Q)
G
TS H
G 0 2.3
H
G
CaCo, Co,
101.325kPa ( 910 ) CaCo,
Co, co, ( 30Pa 2.2)
( 530 )

7.3



BaTi10,
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7.9

7.9
(cmz- '
1o s /
Eq/eV a(s- nh
Si 1.107 1900 500 5x 107 1410
Ge 0.67 3800 1820 2.2 937.4
AlSh 1.60 200 400 | 550 2x 107
) GaAs 1.35 8800 400 | 2.5x 1077 1238
InAs 0.36 33000 460 | 3.3x 10° 943
InSh 0.163 78000 750 | 1.67x 10° 535
- Zns 3.54 180 5 2100
cds 2.42 1750
CdTe 1.44 1200 50 1365
B -SiC 2.3 4000 3070
[31 12 58
(
9 “ 9 14 “ 9 )
( )
25 10-4S- m-!
P- ( ) n-
( )
«C )
3 1 B Ge 1
B Ge
[ 7.7(a)]
1 E,
0.0le
p- (P positive
) P-
« )
4 Ge Sb
1 0.01e

7.7(0) E, 0.04e ]
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4x 107°K

( 4.3K)

2.

o, N,

(
) ( ) (
)
N, ( MgsN,)

7.3.3
1.

(Si0,)

K,0- Al,O;- 6Si0, K,AlLSig04

K,0- 3Al,05- 6Si0,- 2H,0 K H,Al5(S10,)q
AL1,0;- 2S10,- 2H,0  Al,H,Si,0q4
CaO- 3Mg0- 4S10, Mg;Ca(Si0;3),
3Mg0- 4Si0,- H,0  MgsH,(S103),

Na,0- Al,0;- 2S10,- nH,0  Na,Al,(Si0,),- nH,0

pv=f T

china chinaclay



Sio, 4
4 7.8
; \ o o BET
e Y 15
()i EE (b ) {FHNE
Er.g siod- AEFHNEESETEE
( 5.26
( ) (
5.243 - )
2.
- — (Portland)
1500
7.10
7.10
3Ca0- Sio, C3S 37%  60%
2Ca0 - Sio, CyS 15%  37%

Ca0 Si0, Al0,



Na,CO4+CaC0,+6Si0,—Na,0- Ca0- 6Si0,+2C0,(q)

Co0
Cr,0; MnO, Cu,0

2 10nm

20

1580




Sio,
MgO Ca0
ALO, Cr,0,

ALO, Cr,0,

SiC (SiN,)

Co
( Fel)
CO+Fe0=CO,+Fe
Fe FeO Co (2C0==C0,+C)
3 ( ) Cr,05(
2266 )
( 1875 )
5.
Si0,
AlQ,
X M( Na K Ca)
A X Y
(
)
( HO NH; HS ) ( 0, CH, )
( ) ( )
( Hy 0, CHy)
A
4000ppm 10ppm
m=2 A A 3A 4A S5A 0.30 042 0.50nm m=2.2

30 X 10X 13X 0.50 0.80nm m=3.1 5.0 Y 1.00nm



(-180  -175 )
0, 0, Sppm
99.996 )
( NO NO,)
7.3.4
SiisN,
1.
810, +30 =2 SiC+200
1 a EE',tF' 1
)
SiC
20
1700
( ) SiC
) 1100
40 50
2.
B,0; NH,CI NH,
(BN)
( 0.01mm)
BN (1800 ) (8000MPa)

MoS2 BN

(

( S0, H,S)

SiC BN

(2827 ) (

SiC
SigN, (
1200
20 30

BN



( 9.8 9.9)

( 3000 1500 1800 )
BN
5 10
3.
(SizNy)
1200
SigN,
1350 1450
SigN,
SigN,
1400
sialon Si Al 0O N SiC SigN,
SiN,
NaCl  MgO
1967 RbAg, 15
(Ag* 27S- m1)

0.1 1000S'm-1
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) (
)
o -Agl NaAl,;0,;
Zr0,
1.a -Agl
Agl a B vy Agt I
y - B -Adgl 146 a -Agl o -Agl
131S- m! Agt
Agl +1 a -Agl Ag*
MAGE 11y RbAg, s
RbAg, 15
(-)Ag|RbAg, I5|RbI;(+)

4Ag+2Rbl;==RDbAg, I ;+RDI
2.NaAl ;04
NaAl;;0,, 300 10S- m-t

Na*

NaAl ;04

(-ONa(l) [NaAl;,0,[S|C  +

2WNatxs ﬁ;ﬁi Naym,
( 5 ) (
)
3.7r0,
0%-




(Zro0,

H2
(
1.
(
)
(
)
2.
Mn2* Zn2* Cu2* Ni?* Co?t
Zn0 Zn$S (

[39] 127 696 996
[35] 150—156
Po zr Ti O3

2715 )
) 0,

FeZ* +2

(
)
)

PZT)
PbTiO3 Ti zr



PZT : ” 100

1.1 3.7 )

70

100 )

o~
e

2. ( NaCl BaCl,)
Si10,(B -

(

( ALO; Fe,0; Cr,0; Sbh,05)

) (

( )

FeCl, AICI) ( Cro; V,0.)

FeCl,) (

( Na,0 MgO)

)
AICI, FeCl, znCl, SnCl,)
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